INDUS TRIAL ALUMINIUM PROEILE SYS TEMS

A\ luminium
Profile

MODULAR CONSTRUCTION TECHNOLOGIES
ACCESSORIES CONVEYORS SYSTEMS

#___  TIMOKATAAOIO:X  __. S5
/ /¥  PRICE LIST SONAS

2025

B{EKAQZH AN T ot

-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr

- b, i T
N N '\-,_ i)
3 y b 4
® [N\
o ; AN
. b RN
B, O



Industrial Profiles / T Slot Profiles A\ uminium
Profile
6 8 10
4 -
20
1.4 » '
e
TIMH/m
KOMMATI
L PR 6.35¢€
M t of Inertia |M t of Resist: TIMH/
Code Product Name Material o 21 NI TIOMENL O RESISIANCe  area | Weight
Ix ly Wx Wy
M 63 20x20 6063 | 0,61cm’ | 0,61cm® | 0,61cm®| 0,61cm® | 1,42cm? |0,38 Kg/m 5,70 €
6 8 10
£2 (
25
14
TIMH/m
KOMMATI
L 8,80 €
M f 1 i i TIMH/
Code Product Name Material oment of Inertia_|Moment of Resistance Area Weight
Ix ly Wx Wy
M 63/A 25x25 6063 | 1,39t | 1,39cnt | 1,11cm® | 1,11cm® | 2,12cm? |0,55 Kg/m 7,90 €
6 8 10 -
4 o
10 20 10
&y
Bl
w
Q TIMH/m
KOMMATI
|
N
M t of Inertia |M t of Resist: TIMH/
Code Product Name Material olmen 2 nT |a onxn o eS|$Vance Area Weight
X y X Y
M 99 20x40 6063 | 4,17cm’ | 1,12cm’ 2,08cm® | 1,12cm® | 2,6cm? |0,73 Kg/m
6 8 10
[.2 ‘ -
80
10 20 ) 20 ) 20 10
AL
KOMMATI
]
- N
M t of Inertia |M t of Resist TIMH/
Code Product Name Material olmen ° nT 4 onxn o e5|3vance Area Weight
X Yy X Y
M 95 20x80 6063 |29,14cm*| 2,12cm' | 7,28cm® | 2,12cm® | 4,88cm? | 1,32 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / T Slot Profiles A\uminium
Profile

8
- e
» MAYPO ANOAIQMENO
o KATOTIN MAPAITEAIAZ
= o
gl & a7
(| SN " -

TIMH/m
KOMMATI

o 8,2
§ N

M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 22 30X30 6063 | 2,95cm’ | 2,95cm' 1,97cm® | 1,97cm® | 3,16cm? |0,85 Kg/m
6 8 10

TIMH/m
KOMMATI

L3 e
-
\

16,20 €

M t of Inerti M f Resi TIMH/m
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 30X45 D 30x45 6063 3,02cm' | 4,57cm’ 2,1cm? 2,2cm® | 3,35cm? 0,91 Kg/m 14’60 3
6 8 10
60
535
0 a7
N '.:
& m KOMMATI
o R—m— L 23,20 €
M t of Inerti M f Resi
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 26 30X60 6063 |20,12cm’'| 546cm' | 6,71cm® | 3,64cm® | 559cm? | 1,51 Kgim
6 8 10
2
83,5
o < _J i
| o7 ' '
g ol ol 2 '.-n
o KOMMATI
Q
& . 30 | 30 . -
M t of Inerti M f Resi TIMH/m
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 19 30X90 6063 | 63,29cn | 7.99cm | 14.06cnt | 5.32cm® | 8,12cm? | 2,19 Kg/m 32,10 €

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / T Slot Profiles
6 8 10

L4

A ngITliniUITl

rofile

[
TIMH/m
KOMMATI
60 2| -
Moment of Inertia |Moment of Resistance TIMH/m
Code Product Name Material ! Area Weight
Ix |y Wx Wy
HEX 30 HEXAGON STAND 30 6063 14,6 cm* | 14,9 cm* 5,66cm? 4,96cm® | 6,3cm? | 1,72Kg/m
6 8 10
Vs
u 35
( ]
0 a7
™
KOMMATI
8,2
o
Code Product Name Material Moment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 11 35X35 6063 | 4,55cm*| 4,55cm* | 2,6cm’ | 2,6cm® | 3,67cm? | 0,98 Kg/m
6 8 10
(> | -
35
TIMH/m
KOMMATI
o
Moment of Inertia |Moment of Resistance TIMH/m
Code Product Name Material ! I Area Weight
Ix |y Wx WY
M 11/A 35x35 Heavy 6063 6,7cm’ 6,7cm’ 3,8cm’ 3.8cm® | 4,92em’ | 1,29 Kgim
6 8 10
L3 T g
30
S
oo - — @? -
=< | — ))L.;._-" -
»lzg lj\J TIMH/m
L S KOMMATI
o7.1 122]
o
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 21/L 40x40 S8 6063 | 8,65cm’ | 8,65cm® | 4,32cm® | 4,32cm? | 534 cm? | 1,44 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10
B 40 _ 4
30 MAYPO ANOAIQMENO
; , , \ KATOIIN NMAPATTEAIAX
28 fK o
K, Nl
i L.
: I : KOMMATI
>/ |02
@ ¥ \_
Code Product Name Material Moment of Inertia | Moment of Resistance Area Weight
Ix Iy Wx Wy
M 04 40x40 6063 | 7,10cm’' | 7,10cm' | 3,55cmt | 3,55cm | 4,49cm? | 1,21Kg/m
) 40 E e
6 8 10 - 30,2 =
3l g 29
.
8’/ N
M f Inerti i
Code Product Name Material oment of Inertia |Moment of Resistance Area Weight
Ix Iy Wx Wy
M 04/A 40x40 Heavy (S10) 6063 | 10,37cr | 10,37cmi | 6,05cm® | 6,05cm® | 6,12cm’ |1,65 Kg/m
6 8 10 . é
o
<+
-
m t of Inertia | M t of Resist TIMH/
Code Product Name Material oment of Inertia oment of ResISlance)  Area Weight
Ix Iy Wx Wy
M 04/G 40x40 Heavy (S8) 6063 | 12,1cm’ | 12,1cm | 5,18cm® | 5,18cm® | 7,32cm’ |1,98 Kg/im
6 8 10
£ g
.65
2 <
TIMH/m
KOMMATI
60
g
M t of Inertia |M t of Resist TIMH/
Code Product Name Material oment of nertia oment of Resistance Area Weight
Ix ly Wx Wy
M13 45x60 6063 |31,29cm'| 18,45¢cm | 10,4cmi | 8,2cm® | 9,45 cm? | 2,61 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles // T Slot Profile A\uminium
Profile
6 8 10

4 N\
(> | v
{7 )
09 ¢
X J f g
P -\5]__
TIMH/m
v6.8
40
o J
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
x [ Iy Wx Wy
MF 432 40x32 6063 | 5,00cm® | 7,03cm* | 3,10 cm® | 3,52cm® | 4,90 cm? | 1,32 Kg/m
Industrial Profiles // T Slot Profile A\ luminium
Profile
6 8 10 Ve ~
(|
40
¥
=
|
x= — —m{: Sl
Nl ANg
6,8 TIMH/m
80 KOMMATI
g J
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix | ly Wx Wy
MF 328 80x32 ‘ 6063 | 9,44 cm’ | 53,14 crh | 5,90cm® | 13,29 cm® | 8,63 cm? | 2,33 Kg/m
Industrial Profiles T Slot Profiles A\ Juminium
Profile
6 8 10
E z 4 e .
e g
120
20 40 ) 40 20
~ o~ 29
q,
N\
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 21 40x120 6063 |200,5cm’| 257 cm?| 33,1cm?| 13,2.cm’|13,93 cm?|3,76 Kg/m

Industrial Profiles // T Slot Profile Auminium
Profile
6 8 10

= NI A NN
AN N i

618

TIMH/m
KOMMATI

160 | q )
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix | ly Wx Wy
MF 416H 40x160 Heavy 6063 738,38 cni'|53,34 cm® | 92,30 cm? | 26,67 cm?® | 31,93 cm?| 8,62 Kg/m

5 *EAAXIZTO MHKOZ KOMHZ 1200 xiIA. (FIA 6METPEZ BEPIEZ)



Industrial Profiles / T Slot Profiles
6 8 10

L4

45
32,5

NG
0,2

E

MAYPO ANOAIQMENO
KATOIIN NMAPAITEAIAZ

Auminium
Profile

s

TIMH/m
KOMMATI

(S

Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M12 45x45 6063 | 11,09 cm®| 11,09 cm*| 4,93cm® | 4,93cm® | 562cm® | 1,52 Kg/m
6 8 10 Ve
E ] 45
335
98
TIMH/m
KOMMATI
§ -
Code Product Name Material Moment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 12/E 45x45 Heavy 6063 | 15,65 cm’| 15,65cm*| 6,9cm’ | 6,9cm’ | 7,63cm? |2,06 Kg/m
6 8 10
£3 [
45
| OB |
>
2l 4"
TIMH/m
KOMMATI
1
NG
M t of Inerti M t of Resist:
Code Product Name Material olmen ° nT a oment of Resistance Area Weight
x y Wx Wy
M 12/L 45x45 Light 6063 | 6,64 cm?| 6,64 cm* | 2,95cm?® | 2,95cm® | 3,54 cm?|0,96 Kg/m
6 8 10
£3 [
BO
40
=
NG
M t of Inerti M f Resi
Code Product Name Material olmen ° nf i oment of Resistance Area | Weight
X y Wx Wy
M 03/Z 40x80 Light S8 6063 | 11,54 cm' | 46,89 cni* | 5,77 cm® | 11,72 cm® | 7,07 cm?| 1,92 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Industrial Profiles / T Slot Profiles Auminium

Profile
6 8 10 80

p
(> 0

40

40

50 e
o e

TIMH/m
KOMMATI

g
M t of Inertia |M f Resi
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 03 40x80 6063 | 49,98 c | 13,13cm | 12,49cm’ | 6,56cm’ | 7,67 cm? | 2,08 Kg/m
6 8 10 . p
[ | 69

40

40

L o=

i |

TIMH/m
KOMMATI

o
i i TIMH/
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wix Wy
M 03/B 40x80 Heavy (S8) 6063 | 82,3cm*| 20,9cm? | 17,38cn | 9,25cm® | 11,9 cm? | 3,23 Kg/m

6 8 10 Ve

(> =

70,2

TIMH/m
KOMMATI

-
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX I)’ WX W)’
M 03/A 40x80 Heavy (S10) 6063 |69,52 cm®| 18,51 cmi' | 17,38 cm® | 9,25 cm® | 10,23 cm?| 2,77 Kg/m
6 8 10

45

L2 = f (
ot 2

£
Q% T Y

TIMH/m
KOMMATI

G
i i TIMH/
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight *6m BEpr;—‘Az
Ix ly Wx Wy
M 10 45x90 6063 |78,98 om' 20,74 cm' | 17,5cm? 9,2cm® | 9,63 cm? |2,61 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles // T Slot Profiles

6 8

10

Auminium
Profile

~
L2 e
78,5
45 .
o)
Js - L
¢ 8 - S o
l I TIMH/m
m KOMMATI
“./ -
N
Q
M f Inerti i TIMH/
Code Product Name Material oment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 10/B 45x90 Heavy 6063 |108,14 cni| 28,67 cm | 24,03cm® | 12,74cm® | 12,86 cm? | 3,48 Kg/m
6 8 10
50 -
£2
-
{3 %
! . ' TIMH/m
KOMMATI
N 42,70 €
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 46 50x50 6063 | 247cm’ | 245cm | 9,88cm?® | 9,88cm® | 10cm? |2,71 Kgim
6 8 10 Ve
u 100
85,5
50
0
TIMH/m
3:3 KOMMATI
8 o
M t of Inerti M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 101 50x100 6063 | 175cm’ | 452cm’ | 35cm® | 18,1cm® |16,92cm? |4,55 Kg/m
6 8 10
L3 (
135
123,8
TIMH/m
tJ KOMMATI
45 \_
M fl i M f Resi TIMH/
Code Product Name Material oment of Inertia oment of Resistance Area Weight *6m BEprPAz
IX Iy WX W)’
M 60 45x135 6063 | 41,8cm’ | 324cm? | 6,19cm® | 14,4cm* | 18,3cm? | 5Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10 p

45

Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 15 45x180 6063 747cm* 56,70m4 83cm? 25,2cm® | 25,17cm? |6,84 Kg/m
6 8 10
/
K2 -

J{)R ;’i."

Y] N

-

D
Ag

TIMH/m
KOMMATI

Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 28 60x60 6063 |29,85cm’| 29,85 cm*| 9,9cm® 9,9cm? 8,8cm? |2,36 Kg/m
6 8 10 | Ve
TIMH/m
KOMMATI
-
M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 28/B 60x60 Heavy 6063 | 41cm* | 41cm® | 136cm® | 13,6cm® | 11,06cm? | 3,06 Kg/im
6 8 10
£ . [
Pwewe
T Al A [l 25 KOMMATI
&
M t of Inerti M f Resi TIMH/
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 28/X 60x90 6063 | 59,4cm‘ | 122cm’ 26,8cm® | 46,51cm® | 14,7cm? | 4,34 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles // T Slot Profiles A\ luminium
Profile
6 8 10

-

u 120

TIMH/m
KOMMATI

-
i i TIMH/
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 28/Y 60x120 6063 | 75,68cm’|265,05cm | 25,22cm’ | 44,17cm® | 17,48cn? | 4,74 Kg/m
60
6 8 10 53.5 ‘
£3 (
™
/m ¢ 3
SNe. *
3 I8 Q N 22
=
KOMMATI
qC D[ 0
\§
Moment of Inertia |M t of Resist: TIMH/m
Code Product Name Material ' Oment of Resistance Area Weight
Ix ly Wx Wy
M 02/B 80x80 Heavy (S8) 6063 41cm* | 41cm' 13,6 cm® | 13,6 cm’ | 11,06 cm?|5,39 Kg/m
6 8 10 80
£ 4
141%%
LI/
— TIMH/m
KOMMATI
& N
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 02 80x80 6063 | 88,08cm’ | 88,08cm* | 22,02cm® | 22,02cm’® | 11,91cm?® | 3,23 Kg/m
80
6 8 10 70
3 a (
SIS 1 e, |
[I R & /// |:|
~_ -7 H y’b TIMH/m
KOMMATI
L A5
§ oz ~
M fl i M f Resi TIMH/
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 02/A 80x80 Heavy (S10) 6063 |127,cm’ | 1271cm’ | 31,78cm’ | 31,78cm’ |17,77cm? |4,81 Kg/m
*EAAXIZTO MHKOZX KOIMHZ 1200 xIA. (FIA 6METPEZ BEPIEZ)

10



Industrial Profiles // T Slot Profiles
6 8 10

120

Auminium
Profile

TIMH/m
KOMMATI

TIMH/m
KOMMATI

TIMH/m
KOMMATI

u 110
40 40
N R C:
m 29
, L J_J o5,
Ny o2
& \
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX I)’ WX W)’
M 02/X 80x120 6063 | 185,3cm’ | 379,5cm* | 60,55cm® | 210,95cm®| 24,3cm? |6,59 Kg/m
6 8
(> 4
\
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wix Wy
MG 160 80x160 6063 | 242,2cm’| 843,8cm’ | 60,55cm’ | 210,95cm’ 30,5cm’ | 8,28 Kg/m
6 8 10 -
s
N
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Whx Wy
M 30/L 90x90 Light 6063 |143,13cm’| 143,13cm’ | 31,80cm’ | 31,80cm’ | 15,20cm’ | 4,12 Kg/m
6 8 10 90
78,5
K3 B
S
NG
M t of Inertia |M f Resi .
Code Product Name Material oment of Inertia oment of Resistance e Weight
Ix ly Wx Wy
M 30 90x90 6063 | 192,84cn|192,84cm' | 42,8cm | 42,8cm’ | 20,67cm? |5,60 Kg/m

11

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles // T Slot Profiles A\uminium
Profile
6 8 10 90
£2 i
TIMH/m
KOMMATI
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 30/A 90x90 Heavy 6063 |220,49cnt | 220,49cnt | 48,9cn? | 48.9cm | 25,31cm?’ 6,86 Kg/m
6 8 10 I~ s &
(> | 4
]
]
B g =
1
TIMH/m
1 KOMMATI
e 02|
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
MG 100 100 X 100 6063-T5 | 295,4 cm*|295,4 cm* cm® cm’ 25,5 cm” | 6,91Kg/m
6 8 10
‘ ‘ ‘ I 180 /
168
49,3 49,3
g = 2 el e o |
L@\ 1 s 5’//
- \\7/\/ ~_ - ,L‘b
i3
N\
¢/102_ 45 45 | 45 |
Code Product Name Material Moment of Inertia_|Moment of Resistance Area Weight
Ix ly Wx Wy
M 14/L 90x180 6063 | 1240,6cr | 361,5cm | 137,8cm’ | 80,3cm’ | 37,1cm? 10,04 Kg/m
6 8 10
&
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX I)’ WX W)’
M 14 90x180 Heavy 6063 | 1499cmi | 427.6ct | 166,5cnt | 95,02cm’ | 46,7cmt 12,69 Kg/m

12

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles // T Slot Profiles
6 8 10 ‘

135

Auminium
Profile

u 123 4
. |
A
LG [ JL_JC |25
0214 45 45 -
M fInertia |M f Resi
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 32/A 90x135 6063 |313,64cm’| 653cm’ | 69,18cm’ | 96,74cm’ | 34,42cni | 9,33 Kg/m
6 8 10
135
‘ I 123
90
(%t ) !
| & B
! ‘ A5
ﬁ%ﬁ___ﬁ;— L
45 45
Code Product Name Material | Moment of Inertia | Moment of Resistance| /|, o | weignt
Ix ly Wx Wy
M 32 135x135 6063 |897,64cm | 897,64cn| 132,91cm’ |132,91cm’ | 44,52cm’ | 12,06 Kg/m

13

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles /
6 8 10

Surface Coating Profiles A\
P

minium
rofile
-
\‘(
I
X S - } - 7 -
I
|
20
. J
. Moment of Inertia |Moment of Resistance . TIMH
Code Product Name Material ™ Iy W Wy Volume | Weight
AL 112 11x20 6063 | 0,13cm‘ | 0,52cm* | 0,20cm’ | 0,52 cm’ | 1,02 cm® | 0,28 Kg/m
6 8 10
& *NMQAEITAl MONO 2 METPH BEPTA
T e
I
X ! =
L~
" . /
22.5
g
M f Inertia (M f Resi
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly W Wy
AL 152 15x22.5 6063 | 0,33cm‘ 0,81cm’ | 0,40cm® | 0,72cm® | 1,21 cm? | 0,33 Kg/m
6 8 10 *NMQAEITAI MONO 3 METPH BEPTA
(> e
05
Y
x| WL
TIMH/m
K / KOMMATI
I
40
S
Code Product Name Material | Moment of Inertia_ |Moment of Resistance| , |, o | \yeight
Ix ly Wx Wy
AL 164 16x40 6063 | 0,69cm’ | 3,71cm' | 0,84cm® | 1,86cm® | 2,45 cm’ | 0,66 Kg/m
6 8 10 *EAAXIZTO MHKOZ KOIHX 1000 xIA. (TA 3METPEX BEPFEY)
4
04,3
Y
R\
(o@D T
N\_| | N~ d)
40
TIMH/m
o
i i *3m BEPFAZ
Code Product Name Material Moment of Inertia_ |Moment of Resistance Volume | Weight -
Ix ly Wx Wy
AL 168 16x80 6063 | 1,57cm’ |31,32cm’ | 1,89cm’ | 7,83cm® | 4,98 cm? | 1,34 Kg/m

14

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (FIA 3BMETPEX BEPIEZX)



Industrial Profiles / Surface Coating Profiles /A\|y
Pro
6 8 10

miniu,n
e

fi

-
(| 40
20
r ‘ P
N S A
TIMH/m
6,4 KOMMATI
Z, . 9,20 €
M fl i M f Resi
Code Product Name Material olmento nfma oment of Resistance Area Weight
x y Wx Wy
FC 40 10x40 6063 | 3,37cm' | 0,20cm’ | 1,68cm’ | 0,40cm’® | 2,04cm® | 0,55 Kg/m
8 10 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)
K3 p
120
30 30
L t]
|-8-2| TIMH/m
KOMMATI
g
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wi Wy
M 17 15x120 6063 | 105,7cm*| 2,1cm* 176cm® | 28cm?® | 8,6 cm? |2,33 Kg/m
8 10 *EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (TA 6METPEZ BEPIEZ)
(> | 4
146
40
8.2
70 | 2 | 18
o
M t of Inerti M t of Resist:
Code Product Name Material olmen 2 nf - oment of Resistance Area Weight
X y Wx Wy
AL 146 17,7x146 6063 |108,3cm'| 2,7cm’ 19,2cm®* | 3,2cm® | 9,1cm? [5,626 Kg/m
6 8 10 *EAAXIZTO MHKOZX KOINMHZ 1200 xIA. (FA 6METPEZ BEPIEZ)
(N [l > | e ~
e Nut 8 Nut 5
<2_0.‘ % =
7 G : 5 S N | o
L] %@4 - —
TIMH/m
ER
160
g J
M t of Inertia |M f Resi TIMH/
Code Product Name Material oII:en 2 nfy - or:l/s)r(\to eszt/:nce Area Weight |\+gm BEerAz
AL 160 16x160 6063 | 3,76cm’ | 304,4cm’ | 4,19cm® | 38,05cm’ | 15,25cm’ | 3,70 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (A 3SMETPEZ BEPTEZ)

15



Industrial Profiles / Surface Coating Profiles /A\|uminium
Profile
6 8 10 Ve ™~
145
40 40 40
>\< \ \
3~ IR0~ 0f <
\ \ =
40 40 W gy Wy » . TIMH/m
KOMMATI
152 \_ J
i i TIMH/
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight |(gm BEPmrAZ
Ix | ly Wx Wy
MF 17 20x152 6063 7,56% ‘ 350,58% 7,353 46,19° | 18,272 | 4,93 kgim
6 8 10
£2K3 (
180
225_ 45 ‘ 45 ‘ 45 225
lnri Bl
02 TIMH/m
KOMMATI
-
Code Product Name Material Molment Oflnfma Moment of Resistance Area Weight
X y Wx Wy
M 16 22,5x180 6063 |570,9cm' | 11,7cmi | 63,43cm’ | 104cnt | 21,1cm’ | 5,73 Kgim
6 8 10
L4 g
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix |y Wx WY
M 15 ZE 22x140 6063 | 365cm’ | 7,2cm’ | 52,14cm’ | 6,54cm® | 19,8cm’ |5,38 Kgim
6 8 10
3 (
N
TIMH/m
KOMMATI
-
. Moment of Inertia |Moment of Resistance . TIMH/m
Code Product Name Material Ix Iy Wa Wy Area Weight |\ ¢ BEPrAZ
M 20 ZE 27x170 6063 | 852cm* | 16,8cm’ | 100,2cn?® | 12,4cm’ | 32,44cnt | 8,79 Kg/m

16

*EAAXIZTO MHKOZ KOMHXZ 1200 xIA. (F'IA 6METPEZ BEPIEZ)



Industrial Profiles // Radius & Angled Profiles /A

uminium
Profile
6 8 10
| p .
=) @765
NooE N S
10 ’
20 ‘ =
- 20 TIMH/m
_ PAl 5,80 €
M t of Inerti M t of Resist
Code Product Name Material olr:en 2 nTy @ 0"\;3: 2 esz/:nce Area Weight *G;Igggpu
M 63/R 20x20 Radius 6063 |0,65cm’ | 0,65cm’ | 0,61cm® | 0,61cm® | 1,42 cm? |0,39 Kg/m
6 8 10
. f )
i g YO
o N,+ a7
: L ' '\
= P
15 | ; TIMH/m
30 KOMMATI
\ )
M t of Inerti M t of Resist
Code Product Name Material oll:nen ° nTy a 0"\1;: o eskslvjnce Area Weight
M 22/R 30x30 Radius 6063 |2,15cm’ | 2,15cm’' | 1,30cm® | 1,30cm?® | 2,78 cm? | 0,75 Kg/m
6 8 10 e
45
&
M t of Inerti M t of Resist
Code Product Name Material olmen 2 m'e a oment of Resistance Area Weight
X y Wx Wy
M 21/R 45x45 Radius 6063 | 85cm’ | 85cm* | 3,38cm® | 3,38cm® | 4,46 cm? | 1,21 Kg/m
6 8 10 Ve ~
L4 40
N\ A
S o7 ‘ ' ;
mqpRE L
8,2
22 N )
M t of Inerti M f Resi
Code Product Name Material olmen 2 nT a oment of Resistance Area Weight
x y Wx Wy
M 39/A 40x40 (45°) 6063 | 44cn | 44cmt | 1,90cm® | 1,90cm’ | 3,43cm? | 0,93 Kg/m

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)

17



Industrial Profiles // Radius & Angled Profiles /A\|uminium
' Profile

6 8 10
14
£J p
TIMH/m
——— “l‘

o : L £ Q2 0 o) 47,20 €
M t of Inerti M t of Resist

Code Product Name Material oment of ‘nertia oment of Resistance Area Weight |\*6m BEPraz
Ix |y Wx WY

M 83/R 80x80 Radius 6063 |48,43 cm' 48,43 cm' 12,10 cm?® | 12,10 cm?® | 10,23 cm?| 2,77 Kg/m

Auminium
Profile

6 8 10 Ve
(W |
Yo}
3 g
o;\! 8,2
Q -
Moment of Inertia |Moment of Resistance
Code Product Name Material ' me esistan Area Weight
Ix ly Wx Wy
M 22-K 30x30 Closed 6063 | 3,17cni | 3.18cni | 2,05cm’ | 2,05cm’ | 3,37cmi | 0,92 Kg/m
6 8 10
(|
e
]
g
o
x -l
{1
KOMMATI
Y - A ([
Moment of Inertia |Moment of Resistance .
Code Product Name Material ™ Iy Wo Wy Area Weight
M 23-K 30x60 Closed 6063 |21,55cm*| 590cm® | 7,48cm® | 3,93 cm® | 5,92 cm? | 1,60 Kg/m

18

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / Closed Profiles
6 8 10

A UITIII'IIUITI
Pro#fi

L3 5 (
2 ra
[i {‘"ﬂ ‘
l10,2‘ TIMH/m
KOMMATI
o
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wix Wy
M 04-K 40x40 Closed 6063 | 7,24cm' | 7.27cm' | 3,52cm | 3,52cnt | 4,6cm? |1,25 Kg/m
8 10
£ a5 4
32,5
O 2]
g %» / 29 I :
v ﬂ TIMH/m
Y KOMMATI
0; 10,2
®/ \_
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 05-K 45x45 Closed 6063 | 11,78cm’ | 11,78cm’ | 524cm’ | 524cm’ | 590cm’ |1,61 Kg/m
8 10
(- | © -
40
At o K7 QA
’ » T =
Ve
lJ KOMMATI
10,2
o
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wix Wy
M 03-K 40x80 Closed 6063 | 50,9cm' | 12,9cm’ | 12,51cm | 6,23cm’ | 7,7cm® | 2,08 Kg/m
8 10
(- | 2 -
| - ??,5 -
| 45
a9
)
ik j'n %
TIMH/m
o~
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 09-K 45x90 Closed 6063 | 83,69 cm®| 22,22 cm* | 18,59 cm?® | 9,87 cm® | 10,01 cm?| 2,74 Kg/m

19

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



L2 E3 4

25,75

-
TIMH/m
KOMMATI
Code Product Name Material | Moment of Inertia_|Moment of Resistance| , , o | weignt
Ix ly Wx Wy
MG 37 | SLIDEPROFILE18X37 | 6063 | 1,37cm’ | 415¢cm* | om’ em® | 3,37cm? | 0,89 Kg/m

2345

-

TIMH/m
KOMMATI

Code Product Name Material M°|'"e"t of '"f"ia Moment of Resistance| | o | weight
X y Wx WY

MG 28 SLIDE PROFILE 18 X28 | 6063 | 1,09 cm* | 2,24 cm* om® om?® 3,37cn 0,77 Kg/m

Industrial Profiles / Guidance Profiles A\luminium
Profile

XQPIZ TPYNEZ
. Bapog | AlaoTdoeig (mm) Mrjkog: 6000 XIAIooTd ( i, X TIMH/m )
gD| Kwdikég KOMMATI A\ *6m BEPFAT

kg/m A H H1| B |@d1] C1| C2 |[KDIN 6912
12| MDP12 0,69 40 | 22:01| 5 |29 (45|50 | 75| M4x16

16| MDP 16 0,84 |45|26'0,1| 5 33|55| 50 |100] M5x20 |@ESOENGPALES
20| MDP20 1,23 | 523201 58|37 (65|50 100 M6x25 |@LILEEES
25| MDP25 144 |57 |36:01 6 |42 6,560 120| M8x30 |@iyiECL):113
30| MDP30 2,00 |69 42:0,15 7 |51 (85|75 150| M10x35 |EyAvfil )Ltz

40| MDP40 2,60 73 150:0,15| 8 | 55| 9 1001200 M10x40 |CRITIEIELFLLES
* 210 TrTAPATTavVW TTPO@iA dev repIAauBdvovTal ol a§oveg
*ENAXIETO MHKOZ KOIHZ 1200 yIA. (FA 6METPES BEPIEX)

20



Industrial Profiles / Conveyor Profiles
6 8 10 23

Auminium
Profile

(> | 4
&
i
N
N
ol B
2 <! ™
—y ™M
ol TIMH/m
© KOMMATI
i ) o
Moment of Inertia |Moment of Resistance TIMH/m
Code Product Name Material ! ' Area Weight
Ix ly Wix Wy
M 24/D 23x75 6063 3,11cm* | 26,03cm* 3,65cm’ 3,65cm® | 4,86cm” | 1,32 Kg/m
6 8 10
(| 4
127
‘ 64 225 _.
o L
\ > =
82
TIMH/m
KOMMATI
o
M t of Inerti M t of Resist: TIMH/
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29 23x127 6063 | 114,6cm’ | 55cm' | 17,47cm® | 4,.8cm® | 7,4cm? | 2,01 Kgim
6 8 10
K2 (
175_ 175 423 277
1.3
: ryl @
) B g
| la] TIMH/m
== KOMMATI
105
-
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/A 25x105 6063 | 87,1cmi | 24cm® | 15,07cnt | 1,49cm | 7.45cmt | 2,01 Kg/m
6 8 10
(| 4
32.95 18.5 62.7 18.5_,17.35
3
L0 gFI_l:qg IJ
J sl
150 TIMH/m
KOMMATI
\_ J
M t of | i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/B 25x150 6063 | 87,1cm | 2,4cm’ | 1146¢mt | 1,9cmt | 7.45cnf | 2,90 Kgim

21

*EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles Roller/Conveyor/Panel A\ .
Floor cover Profiles IgJ[ﬂﬂll’{!lllJm
6 8 10
£3 g N
TIMH
3m BEPFAZ
o %
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
AL 40 RL 40x40 Roller Profile 6063 | 40,35cm' | 28,35cm | 20,07cm® | 14,05cm? | 4,98cm? | 1,36 Kg/m
25 EMIOYMHTEZX AIAZTAZEIZ KATOIIN NMAPAITEAIAZ
6 8 10 ‘ |
L3 E 3 (
27
TIMH/m
KOMMATI
-
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wi Wy
M 24 45x75 Conveyor 6063 |23,46cm' | 45,80cm’ | 10,7cmt | 9,21cm’ 9,42¢cm’ |2,55 Kg/m
6 8 10 225
£ 8.2
Vs
1
%ﬂ
Lo}
<
TIMH/m
Q KOMMATI
&
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wix Wy
PP 45 Panel Profile 22,5x45 6063 | 2,95cm* | 8,15cm* | 0,42cm’ | 0,82cm’ | 4,63cm’ | 1,25 Kg/m
*EAAXIZTO MHKOZ KOINMHZ 1200 xiIA. (FA 6METPEZ BEPIEZ)
6 8 10 Y ) Ve
(- | — (|
T K
(~—0
| /
7.5 073
30 \
M t of Inerti M t of Resist:
Code Product Name Material oment of fnertia oment of Resistance Area Weight
Ix ly Wi Wy
AL 30 SG Cover Profile 30x30 6063 | 2,48cm‘ | 2,91cm’ 1,58cm’ 1,83cm® | 3,13 cm® | 0,85 Kg/m

22

*EAAXIZTO MHKOZ KOMHZ 1000 xiIA. (FIA SMETPEZ BEPTEZ)



Industrial Special Profiles

NEW

// Special Profiles

Auminium
Profile

6 8 10
30
£ -
]
af =
b o <
(8 D Y
L i TIMH/m
6.2 3,85 | | =N KOMMATI
&
M t of Inertia (M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 22/L 30x30 Special Light S6 | 6063 T5 | 3,72 cm* | 3,72cm* | 1,86cm® | 1,86 cm® | 4,24 cm? | 0,94 Kg/m
AIAGEZIMO KATONMIN MAPATTEAIAZ
*EAAXIZTO MHKOZ KOIMHX 1200 xIA. (TIA 6METPEX BEPIEZ)
6 8 10
> — - s
K 25
3
el fj 5
Z, O
\o J
6,2 TIMH/m
KOMMATI
30
\
M f Inertia (M f Resi TIMH/!
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly W Wy
MS 22/H 30x30 Special Heavy S6 | 6063 T5| 4,21 cm* | 4,21 cm* | 2,81 cm® | 2,81 cm® | 511 cm? | 1,28 Kg/m
AIAGEZIMO KATOIMIN MAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHX 1200 xIA. (TA 6METPEX BEPIEX)
6 8 10
L4 -
&0
53,15
30
>
(@ D)
05
o| 9 g ® )
at, S 1.2 L.
lg2] o] 1 B KOMMATI
\
M f Inertia (M f Resi TIMH/!
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 26/6 30x60 Special S6 6063 T5| 7,99 cm* | 27,23 cm* | 3,99 cm® | 13,61 cm? | 10,89 cm?| 1,67 Kg/m

23

AIAGEZIMO KATOIIN MAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPI'EZ)



Industrial Special Profiles NEW // Special Profiles A\uminium

Profile

6 8 10
L4 N -
30
g
9
-‘
KOMMATI
6.4
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 21/L 40x40 Special Light S8 | 6063 T5 | 12,86 cm*|12,86 cm* | 8,57 cm® | 8,57 cm® | 8,52 cm? | 1,77 Kg/m
AIAGEZIMO KATOIIN NMAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEX)
6 8 10
L4 -
(
9 - , )
8 TIMH/m
40 KOMMATI
\
M fl i M f Resi TIMH/

Code Product Name Material oment of inertia oment of Resistance Area Weight

Ix ly Wx Wy
MS 40/H 40x40 Special Heavy S8 | 6063 T5 | 14,26 cm*| 14,26 cm* | 7,13 cm® | 7,13 cm? |10,01 cm?|2,51 Kg/m

AIAGEZIMO KATOIIN MAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPI'EZ)

6 8 10
(- | s
BO
70
40
g 8 >
1.2 [.Z
-
M f Inertia |M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 03/L 40x80 Special Light S8 | 6063 T5|29,80 cm*| 70,15 cm* | 19,20 cm?® | 46,77 cm® | 18,65 cm?| 3,09 Kg/m

AIAGEZIMO KATOIIN MAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPI'EZ)

24



Industrial Special Profiles

// Special Profiles

Auminium

Profile

TIMH/m
KOMMATI

TIMH/m
*6m BEPTAZ

AIAGEZIMO KATOMIN MNMAPAITEAIAZ

6 8 10
(- ~ 80 B -
&
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 03/H 40x80 Special Heavy S8 | 6063 T5 | 31,81 cm*|111,91 cm*| 7,95 cm?® | 27,98 cm® | 28,14 cm?| 4,58 Kg/m
*EAAXIZTO MHKOZX KOIMHZ 1200 xIA. (FIA 6METPEZ BEPIEZ)
6 8 10
L4 -
\
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
MS 02/H 80x80 Special Heavy S8 | 6063 T5 295,49 cm?295,49 cm*| 73,87 cm? | 73,87 cm® | 76,01 cm?| 7,25 Kg/m

25

AIAGEZIMO KATOIIN MAPAITEAIAZ
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPI'EZ)



)

orner Connectors(Plain) /A\luminium

Profile
6 8 10
[ |
4 ) 4 )
- J N Y,
. q A TIMH
Code Profile External Product Name A | B (o3 Material Weight KOMMATI
M 53 30x30 Straight Corner Connection| 28 | 22.5| 40 | @6 Aluminium 21gr
M 53/C 40x40 Straight Corner Connection| 37 | 37 | 20 |@8.2| 6.5 | Aluminium 39gr
M 53/A 45x45 Straight Corner Connection| 42 | 42 | 22.5 | 8.2 Aluminium 56 gr
M 53/B 80x80 Straight Corner Connection| 76 | 20 | 76 |@8.5| 8,3 | Aluminium 206 gr

Connection Accessories // Angles /A\[uminium
6 8 10 Profile
£33 L3 L4
4 . N 4 N\
A
. ) -
0 0O
- J - J
; . TIMH
Code Product Name A B Cc H L oD Material Weight KOMMATI
MF 20 Angle 20x20x38 (40x20) 20 | 38 | 10 3 20 5.5 | Aluminium 12 gr
@ MF 36 Angle 30x30x58 (30x60) | 30 | 57 | 15 | 5 | 30 | 7 | Aluminum | 40gr
MF 40 Angle 40x40x76 (40x80) 252 | 48 |125| 4 25 7 Aluminium | 86gr
MF 45 Angle 45x45x86 (45x90) 45 | 86 |225| 6 | 45 9 | Aluminium | 112gr

26




6 8 10

[ 1 < |
4 R 4 ! } N
o J - n J
Code Prof External Product Name H w Material Weight ( KJ,&,MMFLH )
M 54/K 20-25 Wide Corner Connection 20 | 17.5 | 5 | Aluminium | 155gr
M 55/G 30x30 Wide Corner Connection 28 | 28 |6.5| Aluminium | 41.5gr
M 55/H 40x40 Wide Corner Connection 37 | 37.7 Aluminium | 49 gr
M 55/H8 40x40 Wide Corner Connection S8 37 | 37.7 Aluminium | 49gr
M 54/G 45x45 Wide Corner Connection 44 | 43 Aluminium | 75gr
M 54/F 60x60 Wide Corner Connection 57 | 57 | 6.5| Aluminium | 98gr
M 54/1 80x80 Wide Corner Connection 78 | 77 | 10 | Aluminium | 226 gr
M 54/1 8 80x80 Wide Corner Connection S8 78 | 77 | 10 | Aluminium | 226 gr
M 52 90x90 Wide Corner Connection 84.7|86.5 | 9 | Aluminium | 366 gr
M 96/K 20-25 Wide Corner Connection Cover - - - Plastic 2gr
M 97/G 30x30 Wide Corner Connection Cover - - - Plastic 49r
M 97/A 40x40 Wide Corner Connection Cover - - - Plastic 8ar
M 96/G 45x45 Wide Corner Connection Cover - - - Plastic 10¢gr
M 97/B 60x60 Wide Corner Connection Cover - - - Plastic 8gr
M 97/C 80x80 Wide Corner Connection Cover - - - Plastic 27 gr
M 96/D 90x90 Wide Corner Connection Cover - - - Plastic 24 gr
Corner Connectors 4
o g covers /A lminium
6 8 10
(> Jfj |
4 ) 4 )
N\ J N\ J
Code Prof External Product Name A D Material Weight Ko-lmniﬂ
M 55 30x30 Corner Connection Narrow @6.5 | Aluminium 54 gr
M 54 45x45 Corner Connection Narrow 10 | @8.5 | Aluminium 59 gr
G 45 ggigg Corner Connection Narrow Cover | - - Plastic 7.59r

27




T

’Angle Corner Connector /A\luminium

Profile
6 8 10
4 N [~ N
30
A5
oo [IZ
| r— || i
nll
VLN
o -
%
]
Code Prof External Product Name D Material Weightl
KOMMATI
M 120 40x40 45° Angle Corner Connector | @8.5 | Aluminium | 86 gr 2,80 €
M 121 45x45 45° Angle Corner Connector | @10 | Aluminium | 98 gr 3,00 €
M 123 30x30 45° Angle Corner Connector | @8.5 | Aluminium |33.5 gr 2,20 €
M 125/S 25x25 40/45° Angle Corner Connector | @6.5 | Aluminium |30.1 gr 2,15 €

Connection Accessories // 45° Angle Connector A\uminium
Profile

6 8 10
[ J{f N |
f N f N
o2
N J N J
. . TIMH
Code Product Name A B (o3 H @D Material Weight KOMMATI
MF 42 Angle Connector 20x40 S6 40 | 20 | 16 5 8.5 | Aluminium | 19.2 gr
MF 60 Angle Connector 30x60 S8 60 | 30 |16.5| 8 8.8 | Aluminium | 41.2gr
MF 21/SS | Angle Connector 40x80 S8/10| 80 | 40 | 18 8 8.8 | Aluminium | 166.2 gr

28




Corner Connectors (Long) And End Covers
6 8 10

(b Il |
4 ) 4 )
o J o J
Code Prof External Product Name A B D Malzeme | Weight
M 54/C 30x60 Corner Connection Long  |27.2| 57 | 6.5 | Aluminium | 48gr (RS
M 54/A 40x80 Corner Connection Long 37.5| 78 |10.5 | Aluminium | 114gr 2,30 €
M 54/U 45x90 Corner ConnectionLong | 42 | 84.2 | 9 | Aluminium | 142gr 2,80 €
M 54/P 30x60 Corner Connection Long Cover | - - - Plastic 10 gr 0,70 3
M 54/B 40x80 Corner Connection Long Cover | - - - Plastic 10 gr 0,80 €

Adjustable Angle Corner Bracket

-
2
-
Code Product Name A B Cc D Malzeme | Weight
MF 3035 | Adjustable Corner Bracket30x35 | 30 | 40 | 28 |@6.5| Aluminium | 21gr
MF 4045 | Adjustable Corner Bracket 40x45 | 40 | 50 | 38 |@6.5| Aluminium | 44 gr

1,40 €
1,70 €

(> ] |
4 ) 4 )
o J N\ J
q . TIMH
Code Prof External Prof External A B D Material | Weight KOMMATI

M1/T 40x40 A Triangle Corner Connection 36 | 36 | @8.5| Aluminium| 56 gr

M 2/T 40x40 A Triangle Corner Connection Cover | 40 | 40 - Plastic 7gr

M 3/T 40x40 Square Corner Connection Cover | 40 | 40 - Plastic | 13.5gr

29




Radius Corner Connectors

Fasteners A ini
Y o end Covers /- uminium
6 8 10
(N i < [ff -
/ M / )
\ B »
&a
> - - :m..
N J N J
Code Prof External Prof External A C D | Material |Weight KOTnIIII\II\IIliTI
M 56/R 20x20 Radius Corner Connection 18.5| 10 | 6.5 | Aluminium | 12 gr
M 55/R 30x30 Radius Corner Connection 28 | 15 | 8.5 | Aluminium | 42 gr
M 54/R 45x45 Radius Corner Connection 42 [22,5/10.5 | Aluminium | 136 gr
M 96/C 20x20 Radius Corner Connection Cover | 20 | 3 - Plastic 2gr
M 96/A 30x30 Radius Corner Connection Cover | 30 3 - Plastic 4gr
M 96/B 45x45 Radius Corner Connection Cover | 45 | 3 - Plastic 14 gr
M 87/A 20x20 Square Corner Connection Cover | 20 | 2 | - Plastic 3gr
M 87/B 30x30 Square Corner Connection Cover | 30 | 3 - Plastic 8 gr
M 87/C 45x45 Square Corner Connection Cover | 45 3 - Plastic 22 gr
Cutting Bush A
Fasteners // . A\uminium
— with Shank Profile
10 - ~ e ™
2
L 3:\
\o['“* e
© X
@10.7
N J N J
Code Product Name Al B[ clopled] L] M [Material | weight
MF 801 | Cutting Bush with Shank 10 | 10.7| 9.7 | 16 |10.7| 9.7 | 16 |8 (3x120%)|Steel zinc | 3.8 gr 1,50 €

8 10

(>

T \ .
38 14
gﬂ’
S
|
I 1
I N |
19 9.9
- J o J
- . TIMH
Code Product Name A B C | M  @d| L |Material | Weight
MF 38 Direct Connector B Set S8/10 | 99 | 19 | 14 6 | Sw3| 38 |Steelzinc| 36gr 7,00 €

30



Fasteners // Head Bolts A\uminium
Profile
6 8 10
L2 E2 K4
4 I 4 N
- J N J
. . TIMH
Code | | Product Name M| A @D Material Weight KOMMATI
M 44/C Slot 6 Head Bolt M6 | 3.5 | 20 | 105 8.8 Steel 45gr
M 44/B Slot 8 Head Bolt M8 | 52 | 25 16 8.8 Steel 13 gr
M 44 Slot 10 Head Bolt M10| 6 30 | 175 | 8.8 Steel 21 gr
Fasteners // Inner Slot Connector
6 8 10
[ |
f N
N J
: H TIMH
Code | | Product Name M | A| B | C |Material |Weight KOMMATI
M 86/B Slot 8 | Inner Slot Connector | M8 | 15 | 26.4 | 12.5 Steel 15gr
M 86/J Slot 10 | Inner Slot Connector |M10| 19 | 30 | 17.5 Steel 27 gr

31




J

6 8 10
(|
4 B N 4
<
? )
T
N H
\_ J -
Code Product Name A B N H L | Material | Weight
MF IS80 | Screw Connector | S8 Double | 35 17 10 35 |Steel Zinc | 20.7 gr

TIMH
KOMMATI

1,60 €

J

(|
4 N 4
B
N H
| | I
<<
&)
o J -
Code Product Name A B N H D | Material | Weight
MF I1S81 | Screw Connector | S8 Single |255| 17 10.2 8.5 |Steel Zinc | 8.6 gr

32

TIMH
KOMMATI

1,20 €



6 8 10

4 N 4
22
7.8 ©
o
O g ® ’
@ :
w
M ™~
. J S J
- - TIMH
Code Product Name Al B lc|pbp]| M| d]| L |material | weight
MF 322 Modular Nuts M3 S8 Ball | 0.8 | 13.5 | 7.8 |[1.75| 3 | 7.2 | 22 |Steel Zinc | 10.9gr 1,45 €
Fasteners // Corner Cube Connector /A\luminium
Profile
6 8 10
4 N 4
i
i
L~
& J -
Code Prof External Product Name A D | R | Material | Weight
KOMMATI
M 115 30x30 Three Corner Cube Connector | 30 |@20,5| 2 | Aluminium | 38,5 gr 5,00 €
M 117 40x40 S8 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 94,5gr 6,70 €
M 117/S10 40x40 S10 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 945 gr 6,50 €
M 116 45x45 Three Corner Cube Connector | 45 | @26,6| 4 | Aluminium | 151 gr 7,00 €
6 8 10
4 N 4 N
N\ J - J
Code Prof External Product Name A D R Material Weight
KOMMATI
M 115/2 30x30 Two Corner Cube Connector | 30 | @18 | 9 | Aluminium | 44,26 gr 4,50 €
M 117/2 40x40 S8 Two Corner Cube Connector | 40 | @24 |8,5| Aluminium | 106,40 gr 6,00 €
M 117/SD 40x40 S10 Two Corner Cube Connector | 40 | @24 [12,5| Aluminium | 104,88 gr 5,80 €
M 116/2 45x45 Two Corner Cube Connector 45 | @24 | 13 | Aluminium | 168,13 gr 6,50 €

33




Profile

6 8 10
(3 B} < Ji] N
4 I I
- J J

Code [ | ProductName | M | B |W | D | H| A Material Weight KOMMATL
M 47/A Slot 6 Jagged Nut M4 | 57 114/ 41|1.2| 56| 8.8 Steel 1.2gr
M 47/S Slot 6 Jagged Nut M5 | 5.7 |11.4/ 41|12 | 56| 8.8 Steel 1gr
M 42/B Slot 8 Jagged Nut M4 | 79| 16 |63 | 2 |7.7| 8.8 Steel 369r
M 42/A Slot 8 Jagged Nut M5 (79|16 |63 | 2 |7.7| 8.8 Steel 3.3gr

M 42 Slot 8 Jagged Nut M6 |79 16 |6.3| 2 | 7.7| 8.8 Steel 3gr
M 43/B Slot 10 Jagged Nut M4 | 10 | 19 |87 | 3 |98 8.8 Steel 7.59r
M 43/A Slot 10 Jagged Nut M5 |10 | 19 |87 | 3 | 9.8| 8.8 Steel 7gr

M 43 Slot 10 Jagged Nut M6 | 10 | 19 |8.7| 3 | 9.8| 8.8 Steel 6.5gr

M 41 Slot 10 Jagged Nut M8 | 10| 19 |87 | 3 |98 8.8 Steel 5.5¢r
M 42/SS Slot 8 Jagged Nut Inox M6 | 7.9 | 16 | 6.3 | 2 | 7.7 | Stainless Steel|  2.7.gr
M 43/SS Slot 10 Jagged Nutlnox | M6 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel|  5.9gr
M 41/SS Slot 10 Jagged Nut Inox M8 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel Sgr

Profile
6 8 10
(> ] >

Code B4 Product Name D L M H|w) B Material Weight KoTnlnnll\lnFLn
M 40/B Slot8 | M6x20 Hammer ScrewNut | - [185| 6 |68 |16,5| 7,7 | 8.8 Steel 75gr
M 40/G Slot8 | M6x25 Hammer Screw Nut - |235| 6 |68 165 7,7 8.8 Steel 8gr
M 40/C Slot 10 | M8x25 Hammer Screw Nut - 17 | 8 |97 [195]| 8,3 8.8 Steel 14 gr
M 40/A Slot 10 | M8x30 Hammer Screw Nut - 27 | 8 |97 |195]| 83 8.8 Steel 16 gr
M 40/D Slot 10 | M8x40 Hammer ScrewNut | - | 37 | 8 |97 [19,5| 83| 8.8 Steel 18.5gr
M 40/F Slot 10 | M8x60 Hammer Screw Nut | - | 57 | 8 |97 |195| 83| 8.8 Steel 25.5gr
M 40/E Slot 8 Round Head Bolt @13 | - 6 | - - | 98| 8.8 Steel 3gr
M 40/ Slot 10 Round Head Bolt 221 - | 8 | - | . 127 88Steel 95gr

34



6 8 10 Ve ~ Ve
L2 E3 L4

& J & J
q . TIMH
Code (| Product Name | M B L H | Material | Weight KOMMATI
M102T Slot 6 Small Nuts M4 | 6 | 10| 5 | 88Steel | 25gr
M102 R Slot 6 Small Nuts M5 | g | 10 5 | 8.8 Steel 2gr
M102 Z Slot 6 Small Nuts M6 | 6 | 10 5 | 8.8 Steel 2gr
M102 P Slot 8 Small Nuts M4 | 7.8 | 16 6 8.8 Steel 9gr
M102L Slot 8 Small Nuts M5 | 78| 16 | 6 | 8.8Steel | 85gr
M102F Slot 8 Small Nuts M6 | 7.8 | 16 6 | 8.8Steel 8.5¢r
M 102 E Slot 8 Small Nuts M8 | 78| 16 | 6 | 888Steel | 75gr
M 102D Slot 10 Small Nuts M4 | 10.1] 20 | 10,5| 8.8Steel | 21.5gr
M102C Slot 10 Small Nuts M5 | 10.1| 20 | 10,5| 8.8Steel | 205gr
M 102 B Slot 10 Small Nuts M6 | 10.1| 20 | 10,5| 8.8 Steel | 19.5gr
M102 A Slot 10 Small Nuts M8 | 10.1| 20 | 10,5/ 8.8Steel | 18.5gr
MF 101 Slot 10 SmallNuts  |M10| 10 | 20 | 10.6| 8.8Steel | 20.9gr
Fasteners / Modular T Slot Nuts A\luminium
Profile
4 ) 4 N
6 8 10
£
_ J
c . . TIMH
ode (| Product Name M | B | W| L H | Material | Weight KOMMATI
M 105 Slot 6 Modular T SlotNut | M4 | 6.1 | 11 | 16 | 5.5 | 8.8 Steel 49r
M 105/A | Slot6 Modular T Slot Nut M5 | 61| 11| 16 | 55 | 8.8 Steel 49r
M 105/B Slot 6 Modular T Slot Nut M6 | 6.1 | 11| 16 | 55 | 8.8 Steel 3gr
Fasteners // Joint Nuts /A\luminium
Profile
4 ) 4 I
10 i
[ |

. J - J

Code [ | Product Name M B w L H Material Weight KJ,\I,,'\:;,I,\H

M 107 D | Slot10 | Vertical great jointnut | M8 |45.5|19.6| 154 |10.05Carbon steel| 110 gr

35




Fasteners // Pin T-slot Nut A umlnlum
rofile
8
£
4 N\
2o 26
’&‘ 7.9
§ &0
o~
Z=1T b
40 =}F F
25 5
—5 X
g ose ey
M6
\_ L Lwme J - J
TIMH
Code |- | Product Name M B w L A B © H Material Weight KOMMATI
MF S13 | Sot8 | PinTsiotNut | 6 | 16 | 17 | 40 | 25 | 16 | 29 | 96 | 88Steel | 356gr 3,70 €
Fasteners // Long Nuts A um|n||_||'n
rofile
6 8 10
[ Jif S |l - |
4 N\
\_ J
TIMH
Code E_2 | ProductName | M B W | L | D3| D2 | D1 | H | Material | Weight KOMMATI
M 107 A | Siot6 LongNuts | M5 | 6 | 10 | 100 | 20 | 30 | 10 | 5 | 88Steel | 20gr 2,00 €
M 107 B | siots Long Nuts M6 | 78| 16 | 120 | 35 | 35 | 75 | 6 | 88Steel | 77.5gr 2,80 €
M 107 C | Slot 10 Long Nuts 40 | 15 | 10,5 | 8.8 Steel 150 gr 4,30 €
Fasteners / Spring Slot Nuts A\ uminium
Profile
LJ LJ
4 N 4 N
-M
c
L ' '
A
B
- J - J
. R TIMH
Code | | Product Name M A B (o L Material Weight KOMMATI
M 45/K Slot 8 Spring Slot Nut M4 8 13 | 55 | 16 8.8 Steel 3.8gr
M 45/C Slot 8 Spring Slot Nut M5 8 13 55 16 8.8 Steel 4gr
M 45/B Slot 8 Spring Slot Nut M6 8 13 55 16 8.8 Steel 55gr
M 45/D Slot 8 Spring Slot Nut M8 8 13 55 16 8.8 Steel 45gr
M 45/H Slot 10 Spring Slot Nut M4 10 15 75 20 8.8 Steel 12 gr
M 45/F Slot 10 Spring Slot Nut M5 10 15 75 20 8.8 Steel 11.5gr
M 45/A Slot 10 Spring Slot Nut M6 10 15 75 20 8.8 Steel 11.5gr
M 45 Slot 10 Spring Slot Nut M8 10 15 7.5 20 8.8 Steel 10.5 gr

36




37

Fasteners / Puller Type Connections /A\|luminium
Profile
8 10 e R e )
£2k3 i
/
I
©
i
-— B —
o J - J
q q TIMH
Code (- | Product Name A | B | C D d Material | Weight KOMMATI
M 85/G Slot 8 Angled Puller Type Connection 12515 | 9 | 12 | 6.8 Steel 22.5gr
M 85/C Slot 10 Angled Puller Type Connection 26 | 17 |115| 15 | 85 Steel 53 gr
8 10 e R e )
[N | > g
!
<
|
— B -
- J - %
q q TIMH
Code (- | Product Nélaight A D d | Material
M 85/F | Slot8 | Puller Type Connection With Joint | 125/ 12 | 6.8 | Steel | 32.5gr 5,50 €
M 85/B | Slot10 Puller Type Connection With Joint 26 | 15 | 85 | Steel 84 gr 6,50 €
8 10 e N 4 )
S Jij N | -
i ! |
! I |
s A
) N4
-
N\ J X J
q q TIMH
Code - | Product Name A | B|C | D d | Material | Weight KOMMATI
M 85/A Slot 8 Plain Puller Type Connection 29 | 21 |16 | 12 | 6.8 Steel 24.5gr
M 85 Slot 10 Plain Puller Type Connection 455| 31 | 20 | 15 | 85 Steel 54 gr
8 10 e ~ - ~
u = D =
TS
1
=4 B -
— A —
N\ J - J
i . TIMH
Code | | Product Name A | B d | Material | Weight
M 85/D Slot 10 Head Puller Type Connection 68 | 48 | 15 | 8.8 Steel 80.5 gr 2,80 €



Profile

6 8 10
[ Jif < J{f >
/ ) / N
N J N J
q . TIMH
Code (- | Product Name M | A | B| C|L | H | Material | Weight KOMMATI
M 106 Slot 6 Hidden Corner Connections M5 | 9 6 | 48 |13.5| 20 Alloys 6gr
M 106 A Slot 8 Hidden Corner Connections | M6 | 13 6.7 21| 30 Alloys 18.5gr
M106 B Slot 10 Hidden Corner Connections M8 | 17 | 10 | 84 | 27 | 40 Alloys 41 gr
Fasteners Moving Joints A\uminium
Profile
6 8 10
[ JI] >
/ ) / N
. J _
. . TIMH
Code Product Name A | B D H | Material Weight KOMMATI
M 36 30x30 Moving Joint 30 | 30 | @85 |22.5| Zinc 133 gr
M 37/A 40x40 Moving Joint 40 | 40 | @8.5 | 30 Zinc 158 gr
M 37 45x45 Moving Joint 45 | 45 | @10.5 | 30 Zinc 309 gr
Fasteners Square Nuts A\ uminium
Profile
6 8 10
|
4 N 4 N
oD 85y
AEN MMAINOYN ZE
OAA TA MPOODIA
| SLOT 10
\ J & J
Code L3 Product Name M E Material Weight KOMMAT]
M 46/F Slot 10 Square Nut M4 5 Steel 13.5gr
M 46/H Slot 10 Square Nut M5 5 Steel 13 gr
M 46/E Slot 10 Square Nut M6 5 Steel 13 gr
M 46/I Slot 10 Square Nut M8 5 Steel 12.gr
M 46/D Slot 10 Square Nut M10 5 Steel 10.5 gr

38




6 8 10 - N

t Plates

A\uminium
Profile

Ve

[ J|{ >
Code Ex':;‘r’;al Product Name M |A | L | B |H | Material | Weight KOMMEAT!
M 81/C 30x60 | Levelling FeetPlate | M6 | 30 | 60 | 30 | 16 | Aluminium 45 gr
M 81/B 40x80 | Levelling Feet Plate |M10 | 40 | 80 | 40 | 15 | Aluminium |  76gr
M 81/A 45x90 | Levelling Feet Plate | M12 | 45 | 90 | 45 | 15 | Aluminium | 100 gr
M 81/F 60x60 Levelling Feet Plate | M12 | 30 60 60 | 15 Aluminium 119 gr
M 81/G 80x80 | Levelling FeetPlate | M12 | 40 | 80 | 80 | 15 | Aluminium | 217.5gr
M 81 90x90 | Levelling Feet Plate | M16 | 45 | 90 | 90 | 15 | Aluminium | 195gr

Fasteners AdoTixa MpoaTaaiog /A\luminium
Profile
6 8 10

4 N 4
(> | WON - B
A
©
|
\ J \ J
Code Product Name Weight MTE'¥'$'0
PE 33 MpooTaTeuTikG eAaOTIKO TTPOPIA 40x40 - 45x45 eviaia emigdaveia | 210 gr/m
6 8 10 - o N -
(> | |
« 3 10
] |
]
o i
" [
N - J N J
Code Product Name
PE 54 Mpo@ik TTpooTaTeUTIKOU €AAOTIKOU 45x45 Tpeig TTAEUPEG 17,70 €
4 N 4 T
\ J \
Code Product Name Weight
SW 15 MpowiA TrpocTaTeuTikoU Aapapivag 1,00mm ewg 1,50mm 38,28 gr/im
SW 25 Mpo@iA TrpooTaTeuTiKoU Aapapivag 2,00mm gwg 2,50mm 76 gr/m

39




6 8 10

-

A\uminium
Profile
I

L2/ £33 K4 %
s | Q . y c
: —
. Q i T
Q _—
E——
4 L4
L —
N ° Y, - J
Code Ex':;frf‘ al Product Name Al c | m Material Weight KONMAT]
M 034/A 20x20 90° Connection Part 93 | 45 M4 Steel 17.5gr
M 032/A 25x25 90° Connection Part 123 45 | M5 Steel 30 gr
M 034 30x30 90° Connection Part 14 45 M6 Steel 33.5gr
M 032 40x40 90° Connection Part 16.5| 61.5 M8 Steel 52.3 gr
M 035/T 45x45 90° Connection Part 195 | 55 M8 Steel 71gr
Fasteners // 120° Connection Part A\luminium
Profile
6 8 10 - A s N
L2 £33 K4
C %
<C
t
QO
NG J NG J
Code Eth’::ri:al Product Name A Cc M Material Weight KOT,\',,MMFLTI
M 35/G 20x20 120° Connection Part 93| 41 | M4 Steel 17 gr
M 35/E 25x25 120° Connection Part 12.3| 40 M5 Steel 27 gr
M 35 30x30 120° Connection Part 14 54 M6 Steel 43 gr
M 35/X 40x40 120° Connection Part 16.5| 54 M8 Steel 49 gr
M 33 45x45 120° Connection Part 19.5 M8 Steel 92 gr
Fasteners // 135° Connection Part A\luminium
Profile
4 M
(W] Lz LJ
NG J NG J
Prof . . TIMH
Code External Product Name A (o3 M Material Weight KOMMATI
M 34/D 20x20 135° Connection Part 9.3 | 385 | M4 Steel 16 gr
M 32/B 25x25 135° Connection Part 123 | 395 | M5 Steel 27 gr
M 35/A 30x30 135° Connection Part 14 51 M6 Steel 41gr
M 33/X 40x40 135° Connection Part 165 | 52 M6 Steel 48 gr
M 33/A 45x45 135° Connection Part 195 | 63 M8 Steel 88 gr

40



A umlnlum

Profile

6
Ed
8
L4
10
= |
- ] J
Code Exl:t’;?lflal Product Name A B @D K Material Weight
M 051 20x25 | 2 Way Connection Plate | 75 | 75 5 3 Zinc 96.5 gr
M 72/A 30x30 | 2 Way Connection Plate | 80 80 | 6.5 3 Zinc 119 gr
M 56/L 40x40 | 2 Way Connection Plate | 110 | 110 | 6.5 3 Steel 218 gr
M 56 45x45 | 2 Way Connection Plate | 120 | 120 | 8.5 3 Steel 256 gr
M76 45x90 | 2 Way Connection Plate | 180 | 180 | 8.5 4 Steel 850 gr
M 76/L 80x80 | 2 Way Connection Plate | 200 | 200 | 6.5 4 Steel 990 gr
M 66 90x90 | 2 Way Connection Plate 85 5 Steel 1.782 gr

Fasteners / 3 Way Connection Plates /A\luminium
Profile
4 )
— - . =
- B —
- - = —
. e
- J \_ I l ' )
Code Exlzgr)rflal Product Name A | B |[@D | K Material Weight KJ,\I,,MMF‘IAH
M 051/A 20x25 3 Way Connection Plate | 75 | 86 5 3 Zinc 109.5 gr
M 72/B 30x30 3 Way Connection Plate | 90 | 150 | 6.5 3 Steel 2215gr
M 72/L 40x40 3 Way Connection Plate | 110 | 150 | 6.5 3 Steel 280 gr
M 56/A 45x45 | 3 Way Connection Plate | 120 | 160 | 85 | 3 Steel 322 gr
M 76/A 45x90 | 3 Way Connection Plate | 170 | 130 | 85 | 4 Steel 622 gr
M 66/L 80x80 3 Way Connection Plate | 160 | 220 | 6.5 4 Steel 900 gr
M 66/A 90x90 | 3 Way Connection Plate 85 | 5 Steel 1.581 gr

/A\luminium
Profile

- Y, \_ )
Code Exlzégrflal Product Name A | B |@D | K Material Weight Kc;rl\lnn:\lnljm
M 051/B 20x25 | 4 Way Connection Plate | 130 | 130 | 5 3 Zinc 248 gr
M 72/C 30x30 | 4 Way Connection Plate | 150 | 150 | 6.5 | 3 Steel 334 gr
@ M72/J 40x40 | 4 Way Connection Plate | 150 | 150 | 6.5 | 4 Steel 370 gr
M 56/B 45x45 | 4 Way Connection Plate | 180 | 180 | 85 | 4 Steel 689 gr
M 66/J 80x80 | 4 Way Connection Plate | 200 | 200 | 6.5 | 4 Steel 1180 gr
M 66/B 90x90 | 4 Way Connection Plate | 311 | 311 | 85 | 5 Steel 2739 gr

41




2 Way Connection Plate /\l 4
oz Mg

6 8 10

[ ->|
r ] ™ e N
4
10
\ J _ J
Code Exqggrf\al Product Name A B | @D K Material Weight K(;rl\lllh:ﬂiﬂ
MF 120 80x40 | 2 Way Connection Plate | 119 [99.5 | 8 4 Steel 331.6 gr

Fasteners 2 Way Connection Plate A\ UMminium
Auto Profile

6 8 10

(> |
4 ) 4 )
s F a)
. =
80
ol0) -
Y 40 ) y

Code Eth’cre?rf\al Product Name A B | @D K Material Weight

TIMH
KOMMATI
M 72/A 80x40 | 2 Way ConnectionPlate | 80 | 40 | 8 | 10 Steel 111 gr

42



Fastener Plain Additional A\l 1mini
AStENErS Connection Plate Hmirium
8 10
L4
4 4 )
- - J
n . TIMH
Code Product Name A (o3 @D L Material | Weight KOMMATI
M 148 40x80 Plain Additional Connection Plate| 72.5 6.5 150 HRP 330 gr
M 148/J 45x90 Plain Additional Connection Plate| 85 5 8.5 175 HRP 564 gr

/A\luminium
Profile

8 10
4 B ) 4 I
u u D
AHy
\
4
\ I
I
- : J - y
. . TIMH
Code Product Name A B C D Material Weight KOMMATI
M 57 Foot Fixing Bracket 153 45 92 9 Steel 488.5 gr

A\uminium
Profile

. /
Code S Product Name A| B | D | H| K| Material | Weight KONIMATI
M 152 45x45 | Based Foot Connection Elements | 135| 89 | 13 | 80| 4 Steel 862 gr
M 153 45x90 | Based Foot Connection Elements | 180 | 89 | 13 | 80| 4 Steel 972 gr
M 154 40x40 Based Foot Connection Elements | 130 | 89 | 13 | 66 | 4 Steel 740 gr
M 155 40x80 | Based Foot Connection Elements | 170 | 89 | 13 | 66| 4 Steel 860 gr

43



Cabin Equipment // Hanger A\luminium
Profile
6 8 10
[ |
4 ) 4 N
- J \_ %
. . TIMH
Code Product Name Material Weight KOMMATI
M 72/20 Hanger 20.25 Plastic+ Steel 18 gr
M73 Hanger 30.45 Plastic+ Steel 36 gr
Cabin Equipment / Slide Rail A\uminium
Profile
6 8 10
(b | |
4 ) 4 N
‘{E{f -
\_ %
. . TIMH
Code (- | Product Name A|lC | H L M Material Weight KOMMATI
M 75/B Slot 8 Slide Rail 8 | 2 (187 53 | M4 Derlin 8.5gr
M 75/A Slot 10 Slide Rail 10 | 2.5 [20.3| 60 M4 Derlin 13 gr

44

Cabin Equipment / Accordion Pin A\uminium
Profile
6 8 10
[ | >
4 4 N
- %
q q TIMH
Code | | Product Name A|C | H L M Material Weight KOMMATI
M 75/D Slot 8 Accordion Slide Pin 8 |15 | 3 | 24 | M8 | Steel+Derlin 7gr
M 75/C | Slot10 Accordion Slide Pin 10 | 18 | 3 | 27 | M10 | Steel+Derlin 125 gr



6 8 10

[ Jl] >
4 N 4
o % -
Code Product Name Material | Weight
M 39 Corner foot connection piece Steel 301 gr

]A\luminium
Profile

Cabin Equipment / Shelf Adjusting Plate Auminium
Profile
6 8 10
[ || |
/ ) N
_ J %
. . TIMH
Code | | Product Name A B d 2D Material Weight KOMMATI
M 98 Slot 8 Shelf Adjusting Plate | 120 | 30 | 6.5 6.5 Steel 247.5gr
M 98/K Slot 10 Shelf Adjusting Plate 120 | 38 8.5 8.5 Steel 2425 gr

Cabin Equipment //

Magnet Connection Set /A\luminium

Profile
6 8 10
| ] < J{f > |
4 Magnet Connection Set N 4 A
L J L J
Code 2 Product Name A| B | L | @d| Material |Weight KONNATL

M 069/D | Sloté Magnet Connection Set 45|20 | 40 | 55 St\teﬁgl;liacte 88.5 gr

M 69/B | Slots Magnet Connection Set 45| 35 | 55 | 6.5 St‘Le;IaI;tliaCte 104 gr

M 069 Slot 10 Magnet Connection Set 45 | 47 | 67 | 6.5 StJre;IaI;tliacte 113 gr

45




[ ] i ||| |

TIMH

Code Product Name H L L1 B D Material Weight KOMMATI
M 67 Plastic Handle 405 |1315| 915 | 25 | @84 Plastic 445 gr
M 68 Plastic Handle Thin 405 | 130 | 104 | 12 @5 Plastic 25gr
M 69 Plastic Slide-in Handle 6 134 | 100 27 | @85 Plastic 110 gr

Cabin Equipment // Handles Aluminium A\ uminium

Profile
6 8 10
£33 K3

N J
. . TIMH
Code Product Name H L L1 B D Material Weight KOMMATI
M 67 AO Aluminium Tube Handle Oval 47 | 233 - 38 - | Aluminium & PVC 88 gr
M 68 AO Aluminium Tube Handle Oval 43 | 230 - 34 - | Aluminium & PVC 70 gr
M 69 AT Aluminium Tube Handle 56 | 232 - 30 - | Aluminium & PVC 81gr
M78 Aluminium Tube Handle 68 | 236 - 36 - |Auminum&PVC| 103 gr
Cabin Equipment / Ball Catch A\luminium
Profile
6 & 10 4 P s N e ~
: =
(b ] < | | . 7
\_ J
Prof . . TIMH
Code Product Name External L L1 B D Material Weight KOMMATI
M 69/C Ball Catch 20-25-30 | 53 40 55 @5 Plastic 25 gr
M 69/F Ball Catch 35-40-45 | 74 | 57 | 77 | @55 Plastic 40 gr

46



Cabin Equipment // Adjustable Handle A\ uminium
Profile
6 8 10 / N / N
[ i v | |
J N J
. . TIMH
Code Product Name M H h1 L Material Weight KOMMATI
M 73/A Adjustable Handle M6 | 72 30 78 Plastic 41 gr
M 73/B Adjustable Handle M8 | 92 50 78 Plastic 52 gr
M 73/C Adjustable Handle M10 | 102 60 78 Plastic 65 gr
Connection Accessories / Slot Seals A\uminium
Profile
6 8 10 / N / N
g
[ ] N | | '
A
—
: VIS
N J N / J
. . TIMH/m
Code | Product Name Colour A | B Material Weight KOMMATI
M79 Slot 6 Slot Seal Q00® | 73| 38 PVC 15,60 gr
M 49 Slot 8 Slot Seal 000® | 389 | 43 PVC 18,30 gr
M 59 Slot 10 Slot Seal 000® | 11.7]| 81 PVC 45,00 gr
Connection Accessories / Glass Seals ZA\luminium
Profile
6 8 10 / N / N
[ J{J N ] N N
\\ w
N J N J
. . TIMH/m
Code - | Product Name Colour A B Material Weight KOMMATI
M70 Slot 6 Glass Seal o0 7 PVC 41,00 gr
M72 Slot 8 Glass Seal 00® | 385|113 PVC 80,00 gr
M 71 Slot 10 Glass Seal 000 11 | 121 PVC 82,00 gr

47




Connection Accessories // [MépoAa

'

Koowog Tomog IIdco Ty
B1V7M300620 30mm M6X20mm 1,68€
B1V7M300630 30mm M6X30mm 1,70€
B1V7M300815 30mm M8X15mm 1,68€
BIV7M300825 30mm MEX25mm 1,70€
BI1V7M400630 40mm M6X30mm 1,70€
BI1V7M400640 40mm M6X40mm 1,75€
BIV7M400820 40mm MEX20mm 1,80€
BIV7M400830 40mm MEX30mm 1,85€
B1V7M400840 40mm M8X40mm 1,87€
B1V7M400850 40mm M8X50mm 1,93€

IIopola papyopita pe aPpoEVIKO TAGO
Baxkehitng pe avroyn oe dtoddteg, Aadia, ypdoo kot ynukd PE. 7 AoPoi.

Kowdwog Tomog IIaoo  Tpn
B1V7M401040 40mm M10X40mm 2,00€
B1V7M500820 50mm M8X20mm 2,64€
B1V7M500830 50mm M8X30mm 2,65€
B1V7M500840 50mm M8X40mm 2,66€
B1V7M501240 50mm M12X40mm 2,90€
B1V7M501040 50mm M10X40mm 2,85€
B1V7M600840 60mm M8X40mm 3,61€
B1V7M601030 60mm M10X30mm 3,73€
B1V7M601050 60mm M10X50mm 3,86€
B1V7M601240 60mm M12X40mm 3,89€

+100°C
-20°C

B1V7M401030 40mm M10X30mm 1,93€

BI1V7IM601250 60mm M12X50mm 4,00€

ItaAiag |

-

Kodwég Tomog IMaoo  Tuyn
B1V7MX300430 30mm M4X30mm 3,26€
B1V7MX300620 30mm M6X20mm 3,37€
BIV7MX400630 40mm M6X30mm 3,50€
BIV7MX401030 40mm M10X30mm 3,96€
LB IV7MX501040 50mm M10X40mm 5,47 €

IHopoia popyopita pe opc. mGoo INOX AISI 304
Baxkehitng pe avroyn oe dtoddteg, Aadia, ypdoo kot ynukd PE. 7 AoPoi.

~

+100°C
-20°C

ItaAiag |

opora papyoepita ardé PF Duroplast ps
UPGEVIKO TAGO
AvBekTikd oe Ehata, M, KOG Kol
Stohvtec. 6 AoPoi.

Koduig Tomog IIaoo  Tpn
01PF2B20 PF2 M5X20 20mm M5X20mm 2,24€
01PF2B30 PF2 M5X30 20mm M5X30mm 2,30€
01PF3P25 PF3 M8X25 30mm M8X25mm 2,42€
01PF4C25 PF4 M6X25 40mm M6X25mm 2,60€
01PF4C40 PF4 M6X40 40mm M6X40mm 2,78€
01PF4D20 PF4 M8X20 40mm M8X20mm 2,80€
01PF4D40 PF4 M8X40 40mm M8X40mm 2,92€
01PF6F45 PF6 M12X45 45mm M12X45mm 5,34€
01PF5D20 PF4 M8X20 50mm M8X20mm 3,28€
01PF5D35 PF5 M8X35 50mm M8X35mm 3,44€
01PF6E5S0 PF6 M10X50 50mm M10X40mm5,12€
01PF6D25 PF6 M8X25 60mm M8X25mm 4,76€
01PF6D40 PF6 M8X40 60mm M8X40mm 4,94€
01PF6E30 PF6 M10X30 60mm M10X30mm 5,06€

+100°C
-20°C

O0IPF6E70 PF6 M10X70 60mm M10X70mm 5,34€ |tﬂ.hi0(

-

1

opora popyapite and PF Duroplast pe
UPGEVIKO TG0 INOX

AvBekTikd oe Ehata, A, Kodoo Kot
Stovtec. 6 AoPoi.

+100°C
-20°C

Kodwkog Tomog Ilaco Tymj
01PF2B20X PF2 M5X20 20mm M5X20mm 3,46€
01PF2B30X PF2 M5X30 20mm M5X30mm 3,70€
01PF2B40X PF2 M5X40 20mm M5X40mm 4,24€
01PF2C20X PF2 M6X20 20mm M6X20mm 3,30€
01PF2C30X PF2 M6X30 20mm M6X30mm 3,84€
01PF2C40X PF2 M6X40 20mm M6X40mm 4,80€
01PF3D15X PF3 M8X15 30mm M8X15mm 5,04 €
01PF3D25X PF3 M8X25 30mm M8X25mm 5,54 €
01PF4C25X PF4 M6X25 40mm M6X25mm 4,90€ |tﬂhi€l€

48



Cabin Equipments / Hinges A\luminium
Profile
6 &8 10 - N N
[ i > |
g 2N J
Code Ex':;‘r’rflal Product Name E | HI | H2 | L1 | L2 | L3 | L4 | D1 | Material | Weight KONMAT]
M 65/K 20x20 | Hinge (Thin Series) | 5 | 10.25 [10.25|18.35|18.35| 35 | 19 | 6 | PA6Black | 85gr
M 65/G 25x25 | Hinge (Thin Series) | 5 | 12.75 |12.75|23.35(2335| 35 | 19 | 6 | Pa6Black | 11gr
M 65/H 20x25 | Hinge (Thin Series) | 5 | 10.25 [15.25(18.35|23.35| 35 | 19 | 6 | Pa6Black | 10gr
M 65/A 30x30 Hinge 8 15 15 | 25 | 25 50 30 | 6.5 | Pa6Black | 29.5gr
M 65/B 35x35 Hinge 8 | 175 |175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
M 65/D 45x30 Hinge 8 [2275| 15 | 32 | 25 | 50 | 30 | 6.5 | Pa6Black | 31gr
M 65/J 35x45 Hinge 8 |2275|175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 33gr
M 65/C 45x45 Hinge 8 | 2275|2275 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
6 g8 10 - ~  /
[ i >
L
5 o
\ r
o % \
Prof . . TIMH
Code External Product Name Material | Weight KOMMATI
ML 30 30x30 30x30 Leaf Hinge | Aluminium | 8.5gr
ML 40 40x40 40x40 Leaf Hinge | Aluminium | 11gr
ML 45 45x45 45x45 Leaf Hinge | Aluminium | 9.5gr

Ay,

minium

rofile

Cabin Equipments / Locked & Covered Hinges
6 8 10

49

4 N [~ N
[ i S | N | i
L AN %
Prof . . TIMH
Code External Product Name H L1 L2 L3 L4 | D1 Material | Weight KOMMATI
M 92/A 25x25 Hinges With Lock 72 | 48 | 28 | 52 | 30 | 66 | Pa6Black | 46gr
M 92/B 30x30 Hinges With Lock 72 | 48 | 28 | 59 | 35 | 6,9 | Pa6Black | 48gr
M 92/C 45x45 Hinges With Lock 72 | 48 | 28 | 87 50 | 6,6 Pa6 Black | 60,5 gr
M 92/D 45x45 Hinge Cover 62,2 | 56 | 36 | 73 | 455 | 6,6 | PabBlack | 41gr



Cabin Equipments / Plexiglass /A\luminium
Profile
e ™ il

B C
o J
Code Product Name A B C Material Weight
MIMOPOYN NA KOIMNOYN
PX 30 Plexiglass 3 mm 2050 | 3050 | 3 Plexiglass 3,57 kg/m’ ZTIZ EMIOYMHTEZ
PX 40 Plexiglass 4 mm 2050| 3050 | 4 | Plexiglass | 4,76 kg/im’® AIAZTAZEIZ
PX 50 Plexiglass 5 mm 2050| 3050 | 5 Plexiglass 5,95 kg/m’ AIATIOONTAI ZE
PX 60 Plexiglass 6 mm 2050 | 3050 6 Plexiglass 7,14 kg/m? AIAOOPA XPQMATA
PX 80 Plexiglass 8 mm 2050 | 3050 | 8 Plexiglass 9,52 kg/m® TIMH KATOMIN
, ) 2 2YNNENOHZHZ
PX 100 Plexiglass 10 mm 2050| 3050 | 10 | Plexiglass | 11,90 kg/m
Cabin Equipments / MoAukapBovikd /A umlqlum
ro I e
/ )
| B T
T ] .
= ’!lTlT”rl
- J :
Code Product Name A B Cc Material Weight
MIMOPOYN NA KOIMNOYN
PC 40 MoAukapBovikd 4 mm 2100 | 6000 | 4 | MolukapBoviko | 0,80 kg/m® 2TIZ ENIOYMHTEZ
PC 60 MoAukapBoviké 6 mm 2100 | 6000 | 6 | MoAukapBoviké | 1,30 kg/m’ AIAZTAZEIZ
PC 80 MoAukapBoviké 8 mm 2100 | 6000 | 8 | MohukapBoviké | 1,50 kg/m’ AIATIOONTAI ZE
PC 100 MoAukapBovikd 10 mm 2100 | 6000 | 10 | MoAukapBoviko | 1,70 kg/m? AIA®OPA XPQMATA
PC 160 MoAukapBoviké 16 mm 2100 | 6000 | 16 | MohukapBoviké | 2,55 kg/m? TIMH KATOMIN
ZYNNENOHZHZ
PC 200 MoAukapBovikd 20 mm 2100 | 6000 | 20 | MohukapBovikd | 3,10 kg/m’ e
. . 2upTtTayn
Cabin Equipments / . A\uminium
— HOAUKGPBOVIKG Profile
e
Code Product Name A B (o3 Material Weight
PCB 30 ZupT. MoAukapBovikd 3 mm | 2050 | 3950 | 3 | Monukappoviks | 3,60 kg/m? | |°
PCB 40 ZupTr. MNMoAukapBovikd 4 mm | 2050 g?gg 4 | MohukapBoviko | 4,80 kg/m?
PCB 50 TupTr. MoAukapBovikd 5 mm | 2050 g?gg 5 | MohukapBoviké | 6,00 kg/m? ~
5 3050 5 2
PCB 60 Zupr. MoAukapBoviké 6 mm | 2050 | 3150 | 6 | MoAukapBoviké | 7,20 kg/m Mnngggglg¢MKl?Tl%YN
PCB 80 Zupr. MoAukapPovikd 8 mm | 2050 | 6100 | 8 | MohukapBovikd | 9,60 kg/m? AIAZTAZEIZ
: 5 MoA 5 | 12,00 kg/m? AIATIOONTAI £E
PCB 100 YupTr. MoAukapPovikd 10 mm | 2050 | 6100 | 10 | MoAukapBoviké | 12,00 kg/m AIAGOPA XPOMATA

TIMH KATOIIN
ZYNNENOHZHZ

50



Cabin Equipments / Cable Holders A\uminium
Profile
6 8 10
([l >
4 N (" R
\_ WITHOUT CAP WITH CAP Y, \_ )
. . TIMH
Code Product Name A B C D E Material | Weight KOMMATI
M 82 Cable Holder Without Cap S10 22 |10 | 223 - - Plastic 4.24 gr
M 82/8 Cable Holder Without Cap S8 22 | 8 |17.2] - - Plastic 3.55¢r
M 83 Cable Holder With Cap S10 34 |16 | 20 30 10 Plastic 5.74 gr
M 83/8 Cable Holder With Cap S8 28 |15 | 20 | 24 10 Plastic 4.86 gr
Cabin Equipments Plastic Plexi Holder Auminium
Profile
6 8 10
4 ) 4 N
I~
\_ WITHUNIBLOCK WITH NUT ) S )
Code e e A | B| C | D | Material | Weight KOMMATI
M 109 Plexi Holder With Nut S10 25 18 | 25 | 55 Plastic 5.74 gr
M 109/S8 Plexi Holder With Nut S8 235| 18 | 25 | 55 Plastic 486 gr
M 109/A Plexi Holder With Uniblock 208 | 29 | 222 - Plastic 7,46 gr
Cabin Equipments Plexi Holder Metal Auminium
Profile
6 8 10
W I} S Jif >
4 ) 4 N
!
- J - )
Code Product Name A/ B C|D|R Material | Weight KJ,.',.":\',.",'m
M 120 Plexi Holder Metal Single 20 |32,5| 25 |@4,2| 12,5 | Aluminium 25gr
M 120/A Metal Plexi Holder Dual 20 8 65 | 65 - Aluminium 82 gr

51




Security Fence

Connection Elements / Connectlon Systems A FI"IFLIQ".'IF!
Slot Sliding Wheel
™ s i
|c
% o J
Code (W Product Name A| B |C |D|E| Material |Weight KOMMATI
L Black
M 88/B Slot 8 Slot Sliding Wheel 335| 47 19.3| 58 | 7.8|p ethyiene 47 gr
L Black
M 88/A Slot 10 Slot Sliding Wheel 68.5| 48 | 29 | 9.5 |95 Polyethylene 90 gr
M 88/X Slot 10 |  Sliding Wheel set 40x40 | 40 | 40 | 40 Aluminium | 116 gr
M 88/Y Slot 10 Sliding Wheel set 45x45 45 | 45 | 45 Aluminium | 170 gr
M 88/J Slot 10 Sliding Wheel set 30x30 30 | 30 | 30 Aluminium | 80 gr
Safety Lock
4 N 4 I
<
o J S J
Code Product Name A|B|C|D Material Weight Kg“'lmkn
M 92 Safety Lock 80 | 40 | 35| 31| Aluminium | 243 gr
Safety Fence Connector
N 7 N [
2N \
Code Product Name A| B (o D|dl| M Material KJI\IIIMMF,Lﬂ
M77 Safety fence ConnectionPart | 5 | 12| 6 | 24 | 5 | M5 | Aluminium |13.5gr

52




Connection Elements /

Security Fence
Connectlon Systems

Parallel Profile Connection Kit

A umlnlum

Profile

Connection Elements /

A A N 7 N [
-
H .D
1

e J L L

- q TIMH

Code Product Name A | B|C|@D| E F | H | Material |Weight KOMMATI
M 135 Parallel Profile Connection Kit 30 |30 | 27| 85| 15 | 85| 57 Steel 38.5¢r

Security Fence

Securlty Fence
Connection Systems

Wire Mesh Clamp Plate

Connection Elements / Connectlon Systems A ,!"ﬂ,"}!"."f"l
Wire Mesh Clamp
4 ) 4 )
e ) e
gl q &
- N J
4 4 , , N
N a Y, - J
Code | | Product Name A | B |Clamping Range| Material |Weight KJI\IIINI\IIIFLTl
MF 81/C 8,10 Wire Mesh Clamp 20 | 10 3-5mm Zinc 20 gr

A Fl)JITliniUITl

rofile

53

4 N )
Os3 AA 6 . L { { T}
A . L 'a
— ] ~-L
~ !
P /lﬂj f“k L {
g L -
¥ S ! { L
) )
A—I ¢% 3 ‘ f "‘; -...L “-{
8.5 @/ ~_ ) I
N I\
. TIMH
Code Product Name A | B |Clamping Range| Material |Weight KOMMATI
MF 810 Wire Mesh Clamp 45| 6.1 3-5 mm Zinc 14 gr




Connection Accessories / Profile Caps

Code Product Name A B Cc Color Material Weight
M 58/P 20x20 Profile Cover 20 20 2 [ ] Plastic 19r
M 58/B 20x40 Profile Cover 20 40 3 (] Plastic 2gr
M 58/F 20x80 Profile Cover 20 80 3 o Plastic 49r
M 58/R 25x25 Profile Cover 25 25 3 [ ] Plastic 1.50r
M 58/A 30x30 Profile Cover 30 30 3 [ ] Plastic 35g¢r
M 58/H 35x35 Profile Cover 35 35 3.3 [ Plastic 4.5gr
M 58/HV 35x35 Profile Cover (S10) 35 35 3.3 o Plastic 4gr
M 170 30x60 Profile Cover 30 60 3 [ J Plastic 7gr
M171 30x90 Profile Cover 30 | 90 | 33 o Plastic 7.59r
M PK 40 40x40 Profile Cover (S10) 40 40 3.3 [} Plastic 5.5¢r
M172 40x40 Profile Cover (S8) 40 | 40 | 33 o Plastic 5.5 gr
M173 40x80 Profile Cover (S8) 40 80 3.3 [ ] Plastic 8.88 gr
M PK 48 40x80 Profile Cover (S10) 40 80 3.3 (] Plastic 9.5¢r
M 58/C 45x45 Profile Cover 45 45 3.6 o Plastic 8gr
M 58/J 45x60 Profile Cover 45 60 3.6 o Plastic 9.5gr
M 58/D 45x90 Profile Cover 45 90 3.6 o Plastic 15.5gr
M 174 45x135 Profile Cover 45 | 135 | 3.6 o Plastic 19 gr
M 175 50x50 Profile Cover 50 | 50 3.6 (] Plastic 8gr
M 176 50x100 Profile Cover 50 | 100 | 3.6 o Plastic 17 gr
M 58/G 60x60 Profile Cover 60 | 60 | 3.6 PS Plastic 115gr
MA177 60x60 Profile Cover (S8) 60 60 3.6 () Plastic 125¢9r
M177/G 60x90 Profile Cover 9 | 60 | 36 ) Plastic 18.33 gr
M PK 80/8 80x80 Profile Cover (S8) 80 80 3.6 (] Plastic 21.6gr
M PK 80 80x80 Profile Cover 80 80 3.6 o Plastic 19.5¢r
M 58/E 90x90 Profile Cover 90 90 3.6 [ ] Plastic 31gr
M 178 20x20 Radius Profile Cover 20 20 3 o Plastic 1gr
M 58/L 30x30 Radius Profile Cover 30 30 [ ] Plastic 25¢r
M 58/M 45x45 Radius Profile Cover 45 45 o Plastic 7gr
M179 23x127 Profile Cover 23 | 126.8| 42 o Plastic 18.5¢r
M 179/X Hexagon Stand Profile 60 52 3 o Plastic 5.67 gr

54




Connection Accessories / Plastic Levelling Feet A\uminium
Profile
4 Y ) 4 I
h
'3
H
N ° J - J
Code Product Name D | M | H | h | Material | Weight c:::cdity KOMMATI
M 62/D M6 Plastic Levelling Foot @50 | M6 | 80 | 50 | Plastic 41gr 39 kg
M 62 M8 Plastic Levelling Foot @50 | M8 | 80 | 50 Plastic 47 gr 49.5 kg
M 61 M10 Plastic Levelling Foot @60 | M10 | 100 | 60 Plastic 111 gr 114 kg
M 61/C M12 Plastic Levelling Foot | @60 | M12 | 82 | 50 | Plastic 101 gr 152kg
M 61/B M16 Plastic Levelling Foot @108| M16 | 145 | 100 | Plastic 283 gr | 325.5kg
Connection Accessories Metal Levelling Feet A\uminium
Profile
s R & B

bd

- - J/
Code Product Name D | M | H | h | Material |Weight | :;’:gty KK
MF 62/A M6 Metal Foot Simple @40 | M6 | 80 | 50 Steel 150 gr | 130 kg
MF 62/B M8 Metal Foot Simple @40 | M8 | 80 | 50 Steel 250 gr | 180 kg
M 62/C M;?a.cﬁ‘gegﬁ?ng%a;gﬁ @60 | M10 | 103 | 70 | Chrome-steel | 188 gr | 190 kg
M 62/B mgfalofgg’;?ﬁng‘;ﬁ;g;’ @80 | M12 | 146 | 100 | Chrome-steel | 479 gr | 489 kg
M 62/A Mot Lomli o oo @120 M16 | 146 | 100 | Chrome-steel | 1.081 gr| 1.150 kg

Connection Accessories // Pb&deg A\luminium
Profile
4 I 4 N
H
- J -
Code Product Name E |2D | @d | H c;'::;’ity Material | Weight KOMMATI
M 99/A P&da 1peAn ® 50 24 | 50 | 10 | 70 50 kg Polyamid | 204 gr
M 99/B Poda TpeA ® 50 pe gpévo | 24 | 50 | 10 | 70 50 kg Polyamid | 277 gr
M 99/C P6da TpeAq @ 75 24 | 75 | 10 [100 70 kg Polyamid | 298 gr
M 99/D P6da Tpehy ® 75 pe ppévo | 24 | 75 | 10 | 100 70 kg Polyamid | 538 gr
M 99/E P65a 1peAf ® 100 24 100 | 12 | 130 80 kg Polyamid | 719 gr
M 99/F Poda tpeAry @ 100 pe @pévo| 24 | 100 | 12 | 130 80 kg Polyamid 820 gr

KATOTMMIN ZHTHZHZ YINMAPXOYN KAI ZE AAAEZ AIAMETPOYZ
55




. . Feet Wheel -
Connection Accessories : :
| comecionpccessories /7 S W uminium
4 N 4 I
S U /
;)m.{'_ ¥ HT_J'T 0/ we i_‘ e
{5 '-: 1 '
o J & J
Code Product Name A B (o] L oD | @d Material | Weight KJ,:,m,Im
MF 4080 |40x80 (40x40) Con. piece M12| 50 | 40 | 40 [189.64(10.50| 8.50 | SteelZinc | 729 gr
MF 4590 |45x90 (45x45) Con. piece M12| 55 | 45 | 50 198.00/10.50 | 8.50 | Steel Zinc | 885gr
Connection Accessories // Cupholders A\uminium
Profile
( 106 \ ( \
9.3 8100 25,5
E[E g "
= [EN
= 093
) {\/ ol ®
~—
- J - @ %
Code Product Name A B C L @D | @od Material Weight KoTnIn“:\Ini-n
MF 79 Cupholder 106 | 25.5| 23 | 112 | 100 | 5.5 PP 145.6 gr
Connection Accessories // Grab Containers A\uminium
Profile
4 N 4 I

51 51

5.4 @5.4

’H

oA 1]
/8 =] [B==s]

51 51 51

g
I

103

g

- J - J
. . TIMH
Code Product Name A B (o] L N ad Material | Weight KOMMATI
MF 110 Grab Container 110x105x40 S10 | 110 | 105 | 51 | 103 | 40 | 5.40 PP 95.2 gr
MF 210 Grab Container 210x105x40 S10 | 210 | 105 | 51 | 103 | 40 | 5.40 PP 190.8 gr
. . Metal Magnetic .
nnection A ri A\
Connection Accessories // Sensor LGl Fl,_||r1'|n|r+!|ll_|,12
(" 12.2 A 4 )
8 .25
o
Y
. ni 5 ]
<
- J - J
. . TIMH
Code Product Name A B (o] L N ad Material | Weight KOMMATI
MF 56 Metal Magnetic Sensor Holder S8 | 12.2 | 48.4 |12.2 | 56 2.5 8 Polyamide | 11.2 gr

56



Cabin Equipment // In slot
8 10

A\uminium
Profile
i || W [ N 4 A
\ J o %
Code L3 Product Name Color | A | B | Material | Weight
us Slot 8 In Slot U 8 seal o 9 | 82 PVC 44,6 gr 4,00 €
U10 Slot 10 In Slot U 10 seal ® 14,00(10,20| PVC 50,6 gr
4 4
-
Cabin Equipment // Absorbers A umlnlum
rofile
e & N e N

-

J &
Code Product Name A | B Mi n.HM v Material Weight Kc;rnlllnl’\llliﬂ
M 84 Absorbers (Strok 150mm) F300N | 150 | 195 | 233 - 383 Steel 205 gr
M 84/B Absorbers (Strok 105mm) F150N | 105 | 145| 188 - 293 Steel 159 gr
M 84/C Absorbers (Strok 85mm) F85N 168 - 253 Steel 148 gr

Cabin Equipment // Absorber Connection Part

Auminium
Profile
N

J . J
Code

Product Name Material Weight KJ,\I,,N,,I,,"LH
M 84/D - M84/F Absorber Connection Part Steel 48gr

57




Roller Elements (cupaté ue ta mpogiA 40x40) // Clip-fix Version A\luminium
Profile
8 10
[ | W e N 4
%
Code Product Name A B (o] N H Material Weight Kc;r,\ln“:\'ni-|-|
FR 8040 40x80 Roller Clip-fix 40 | 80 | 20 | 8.38-10.38 | 30 | PlasticPA | 433 gr
FR 8040/G 4%3%;‘;'@[5&28?" 40 | 80 | 20 | 8.38-10.38 | 30 | PlasticPA | 48gr

Roller Elements (cupBarda pe 1o AL 40 RL) // Clip-fix Version

N

TIMH
KOMMATI

Code Product Name A B Cc W | Wi | D |Maxload | Color Material Weight
FR 28 Roller Element R28 Black | 50 [33.3(20.4| 24 [204| 28 | 150N | Black | PlastcPA | 19gr
FR 28/R Roller Element R28 Red 50 |33.3]20.4| 24 |204| 28 | 150N Red | PlasticPA | 19gr
FR 28/G Roller Element R28 Grey 50 |33.3|204| 24 (204 28 150 N Grey | PlasticPA | 19gr
FR 28/F R\:’,'i'tﬁrfaﬁg”eegfaiﬁs 50 |33.3|20.4|238|204| 28 | 150N | Black | PlasticPA | 20gr
FR 90 Roller Element R9 50 | 40 | 24 |33.3| 24 | 24 | 100N | Black | PlasticPA | 30gr

58



Roller Elements (cupBaté pe To AL 40 RL) /

4 N
S alg 333
[ = 1 [ I
3 % fg 5 D
2G| % I ]
o J
4 N

Ball Element

\ % . J
. . TIMH
Code Product Name A B (o3 W | @ | Color Material | Weight KOMMATI
Black cage PA &
FR 50 Ball Element 50 |333| 10 | 66| 16 | il steel chrome 719r

4 N
333
|
N\
: | (@
[m}
Q 1
. %
4 N
. %
Code Product Name A B C w
FR 50/B Brush Element 50 [33.3| 10 | 20

Roller Elements (cupBard e 1o AL 40 RL) // Brush Element

-

Auminium
Profile
N

ag,_‘
. J
@1| @2| @3| Color | Material | Weight |( omman
31 15 | 0.4 | Black Plastic PA 14 gr

59



Roller Elements (cupBard pe 1o AL 40 RL) // Back stop Element /A\lpuminium

rofile

s N e )
23
333
S
[
° \-”--“\I
3 Lﬁ Fg A
=J 1
\_ %
s N
\ %
. q TIMH
Code Product Name A | B | C | W| H | Color | Material | Weight | oumaT
FR 50/S Back stop Element 50 |33.3| 23 | 33.3| 20 |gromenny| Steelzinc | 44gr

Roller Elements (cuppatd pe 1o AL 40 RL) / Slide ramp Unit A\luminium
Profile
4 N\ 4 N
333
/ e |
: tﬁ “"
26 % t
- J o
4 N\ 4
- J o
Code e YT A | B | W| H| Color | Material | Weight | ,owmiar
FR S20 Slide ramp Unit 50 |33.3|33.3| 9.2 | Black | Plastic PA 15 gr

60



Rail System Elements (oupBara pe 1o AL 40 RL) // Slide strip Unit Aluminium
P

rofile

4 N 4 N

e

MHKOZ BEPI'AZ 2000 mm
. . TIMH
Code Product Name A B L w H Color Material Weight METPO
FR L20 Slide strip 22 |33.3|2000| 0.5 |19.2| Black |Plastic PE-HD | 324 gr

Rail System Elements (ouppara pe 1o AL 40 RL) // Rail holding Brackets /A\uminium

Profile

4 ) R 4

{.“m
£y
/ﬁ
6“@
|
T "~
78.7

5.2

FR 28M
FR 28M/S

J

N S ' Y, L Y,

Code Product Name A B L H |@1|@2| Material | Weight

TIMH
KOMMATI

FR 28M Holding Bracket 44 | 60 | 92.8|78.7|28 |4.2 Steel 198.5 gr

FR 28M/S Holding Bracket with stop 44 | 60 | 92.8|78.7|28 |4.2 Steel 198.5 gr

FR 28/D | Variable Holding inner Bracket | 44 | 44 | 60 | 43 | 28 | 4.2 Steel 144 gr

61



Rail System Elements (cupBaré pe 1o AL 40 RL) End Plates

A Fl).lminium

rofile

Spare Parts

Ve
o
4
&
. . TIMH
Code Product Name A B L H |@1|@2| Material | Weight KOMMATI
FR 4040 End Plate 40x40 40 31 40 40 [45|45 Steel 55 gr
FR 4080 End Plate 40x80 40 | 31 | 80 | 40 [ 45|45 Steel 108 gr

Vs

\@

Vs

~

e
W

&




Arm System Elements //

Friction Joints

Auminium
Profile

. Man N
l RN
1
| =]
T
g
b B
30
N QS Y N Y
Code Product Name Friction Torque M L | B | Material | Weight KOT,\',,'\:\I,,FLH
(min deep 15 mm)
40x40 Friction Joint Set
FB 40L/3 |40 Friction Jon 3 Nem 8 |40 |40| steel | 775gr |QLLEIEIES
4 My N\
l B MY
] |
i1
[
2 |
1 1
E LL.—'—-I
L
N < Y
N . . TIMH
Code Product Name Friction Torque M L B Material Weight
45x45 Friction Joint Set
FB 45L/6 |45 ricton Jon 6 Nom 8 | 45|45| steel |825.4gr|(QUUEHUIRS
s ’-11 ™ m o N e N
o 18
B |
g Fi_;g
¢
:'[ j_.
o
30
Qw
- J - J/
- . A TIMH
Code Product Name Friction Torque mIndaeM15mm L B Material Weight KOMMATI
FB 90H/D9 | 45x90 D Friction Joint 2x9 Nem 8 90 | 45 Steel  [1669.4 gr
Set for Arm System
‘ Mi"‘"‘ B N1O h h
! i) L
] g E 2
g2
| =g
g2 | 3 &
= pe R |
N\ Sw Y, J
Code Product Name Friction Torque M L | B Material Weight TIMH
(min deep 15 mm) KOMMATI
45x90 Friction Joint Set
FB 90L/6 for Arm Svetom 6 Nem 8 90 | 45 Steel  |1159.2 gr

63



Arm System Elements / Monitor Mounting Plate /A
rofile

UI'nInIUITI
4 N\ 4 N\
=
I
- J - J
Code Product Name A B | C | @D | Material Weight KJ,:,mLT,
. PA Plasti
MMPF 75/100| Monitor Plate 75/100| 100 | 75 | 40 | 8.8 +Fiberglsa's°s 123 gr |@ERDES
Arm System Elements / Keyboard Holder /A uminiurm

Profile

Code

Product Name A | B

MF 80K

Keyboard Holder | 660|638 | 300

41.6

64

Material | Weight Kc;rnII|MM|-IAT|
Aluminium
223| o 4900 gr | (QLUUSIIES



Cabin Equipment / AANevoBIdeG Inox /A\luminium
Profile

AlevoPrdeg o€ petpiko DIN912 INOX A2

Ilaygog— 3 4 5 6 8 10 12 14 16 @
{Mnkog!
3-6 2,47€3,82€
8 2,60€4,39€ 4,58€
10 2,16€4,20€ 4,39€ 6,61€ 14,43€
12 2,21€3,82€ 4,39€ 6,64€ 14,88€
16 2,24€4,20€ 4,20€ 6,42€ 13,28€ 30,18€
20 2,70€4,20€ 4,77€ 6,68€ 14,25€ 22,04€ 33,57€
25 3,38€4,20€ 5,73€ 7,80€ 15,10€ 24,90€ 33,57€ 73,06€ 59,87€
30 3,38€5,73€ 6,87€ 9,15€ 17,15€ 25,19€ 35,67€ 77,83€ 83,55€
35 4,68€6,49€ 8,25€ 10,80€18,75€ 27,28€ 39,83€ 70,77€ 88,13€
40 5,98€7,25€ 8,97€ 12,14€21,75€ 29,38€ 44,07€ 70,96€ 92,52€

45 7,63€10,49€ 13,71€26,32€ 33,58€ 46,79€ 77,27€ 97,63€
50 8,40€ 11,45€ 15,34€27,47€ 35,67€ 49,32€ 84,32€ 104,54€
60 13,93€19,28€27,92€ 44,07€ 56,65€ 96,34€ 117,70€
70 22,89€38,91€ 52,45€ 62,95€ 119,85€ 129,71€
80 27,60€45,79€ 62,95€ 73,45€ 130,67€ 151,27€
90 42,35€57,23€ 72,67€ 88,13€ 143,07€171,69€
100 54,48€61,81€ 87,70€ 95,08€ 154,90€ 188,28€
110 64,47€ 91,00€ 117,00€
120 68,90€ 97,50€ 132,95€
130 74,10€ 117,00 € 144,30€
140 80,60€ 126,10€ 159,25€
150 87,10€136,50€ 174,20€

*ta 100 tepayia

AAevoPrdeg opelateg DIN7991 (INOX A2

Alevopideg opme DIN7380
INOX A2

®
7

Méyog— 4 5 6 8 10 12
{Mnkog! Ilayog—~ 4 5 6 8 10
10  4,07€ 4,90€ 8,13€ ;
{Mnkog!
12 4,34€ 544€ 596€ I 432€ ¢ 75
16 4,61€ 544€ 6,24€ 11,40€ 1 4’68 € 6.87€
20 5,16€ 5,46€ 6,78€ 12,60€21,70€ 48,82€ 16 5’ Vi B (R e
25  6,78€ 6,78€ 8,40€ 14,64€22,86€ 50,25€ 20 6’12€ 7’07€ 9’90€ 15’66€ 38.25€
30 7,60€ 7,86€ 9,30€ 15,74€27,12€ 54,24€ ’s 6’8 W 7’92 ¢ 11’ ’s €21’ o 42’8 -
35  9,50€ 9,50€ 10,30€18,71€30,91€ 58,25€ 30 7’92 p 9’ ase 13’59 € 23’58 € 45’90 €
40  11,06€ 11,40€ 11,94€ 19,95€ 33,95€ 62,45€ ’ ’ ’ ’ ’

35 11,70€14,94€ 27,54€ 53,55€
45 14,13€14,68€ 23,45€ 38,13€ 70,62€ 40 12,83€16,38€31,23€58,14€
50 16,95€16,95€ 26,84€47,87€ 76,23€ 50 21,42€39,20€ 64,26€
60 19,78€38,14€56,50€ 98,87€ 60 48,96€
70 51,86€73,22€116,62€ *1at 100 Tepdyian
80 61,01€82,37€134,23€ -
*ta 100 Tepéya Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIE MPOEIAOMOIHEH

65



Cabin Equipment //

Magipadia - PodéAeg A
& NrTieg Inox = FlIJmInIUITI

rofile

-

Po8éAeg¢ DIN125 INOX A2

Tomog Ty Tomeg Twn

3X7 0,70 € 18X34 17,60 €
4X9 0,70 € 20X37 18,24 €
5X10 0,94 € 22X39 22,56 €
6X13 1,35€ 24X44 38,80 €
8X17 2,25€ 27X50 66,40 €
10X21 4,14 € 30X56 80,80 €
12X24 7,44 € 33X60100,00 €
14X28 10,80 € 36X66 222,40 €
16X30 11,88 € *ta 100 tepayio

PodéAeg oapdrég DIN9021 [INOX A2

Tomog Ty Tomog Ty

3X9 0,81 € 16X50 43,96 €

4X12 1,10 € 18X56 61,54 €

5X15 1,74 € 20X60 70,33 € ,
6X18 3,66 € 22X66 124,80 € u\
8X25 7,14 € 24X72174,72 €
10X3015,30 € 27X81 217,60 €
12X4023,10 € *ta 100 tepdya
14X4531,14 €

\
N

N
-

Ntileg DIN976 1 pétpov (INOX A2

Méxog Twn Ildxog Ty

3 1,89€ 16 15,96€
4 1,96€ 18 22,76€
5 1,86€ 20 25,53€
6 245€ 22 31,91€
8 3,63€ 24 35,12€
10 532€ 27 51,07€
12 7,45€ 30 63,83€
14 11,28€ 33 90,00€

I'kpoPep DIN127B [INOX A2

Om Ty Omq Ty
3 041€ 16 10,28 €
4 0,41€ 18 10,89 €
5 0,83€ 20 1541¢€ -;i .
6 1,23€ 22 16,44 €
8 2,06 € 24 24,65¢€
10 2,88 € 27 58,10 €
12 5,25 € 30 56,00 €
14 6,58 € *ta 100 tepdyia

Avoéeidota nepikoyAia DIN934 (INOX A2

Méxos Tym Iléxog T

2 246€ 16 36,40 €
25 1,75€ 18 46,69 €
3 1,86€ 20 64,40 €
4 1,62€ 22 87,32¢€
5 1,79€ 24 102,72 €
6 3,06€ 27 304,04 €
8 636€ 30 361,56€
10 11,76 € 33 558,60 €
12 17,22€ 36 651,00 €

14 25,41 € *ta 100 tepdyo

ITepikoyAia ac@aieiag DIN985 INOX A2

Ilayog Ty IIayog Twn
3 294€ 14 49,71 €
4 294€ 16 58,76 €
5 294€ 18 189,82 €
6 3,40€ 20 189,82 €
8 930€ 22 221,31€
10 15,19 € 24 370,60 €

12 22,05€ *ta 100 tepdyo

N

ITepwoyha topAa DIN1587 (INOX A2

IMaoo Twn IIaco Twyn
3 748€ 12 48,18 €
4 748€ 14 8241¢€
5 7,74€ 16 107,76 €
6 837€ 18 190,17 €
8 14,06 € 20 228,20 €

10 33,63 € *ta 100 tepdyla

ITepwoyha etarovdeg DIN315AF (INOX A2

)

IMaco Tym
14,97€
4  14,97€
5 14,97 €
6 20,25€
8  23,95€
10 40,50 €
12 86,28 €
14 154,96 €
16 158,48 €

w

*1a 100 tepayia

J \

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH

66




ANO=EIAQTA // Mnxavopideg /A\lpumir;iulrn

Mnyavoprdcs ppelareg DIN963 INOX A2

s

Hagoc— 3 4 5 6 8 10
| Mnxog|
3-7 1,48€1,97€ 3,70€
8  1,48€1,97€ 3,70€
10 2,23€2,47€ 3,70€ 4,93€
12 2,23€2,47€ 4,45€ 4,93€
16  2,23€2,72€ 4,93€ 592¢€
20 2,23€2,97€ 5,18€ 6,16€
25 2,47€3,47€ 5,67€ 8,14€
30 2,47€3,70€ 6,41€ 8,88€
35  4,93€4,69€ 6,66€ 9,86€
40  3,70€5,18€ 7,15€ 10,85€

45 7,40€ 11,59€
50 6,41€ 7,64€ 12,57€

60 7,15€10,35€ 14,79€

70 19,60€

80 27,22€55,78€ 84,67€
90 34,27€60,28€

100 48,72€ 66,66€ 117,60€
120 95,06€ 176,40€

*ra 100 Tepdyna

quxuvéBlﬁag Tponcloerdzic - ppelarec DIN7985 -
DIN965 1Nnox A2

7

Vg

!

(]
(=)
=]

Oagoc— 2 25 3 4
| Mnxog|
4 3,15€
6  2,40€2,40€2,49€ 2,34€
7 2,40€2,40€
8  2,40€2,40€2,70€ 3,87€ 4,39€
10 2,40€2,40€2,08€ 4,08€ 5,17€
12 2,40€2,40€2,82€ 3,28€ 7,90€ 8,27€
16  2,80€2,80€2,52€ 5,10€ 6,46€ 8,53€ 20,66€
20  2,85€2,80€2,68€ 5,55€ 9,48€ 10,89€23,50€

25 4,50€ 4,44€ 10,92€13,08€25,06€
30 3,08€ 7,26€ 12,84€12,66€206,60€
35 7,62€ 13,68€13,43€206,86€
40 7,71€ 6,84€ 16,92€14,46€29,45€
45 8,00€ 12,76€15,50€32,29€
50 12,30€17,22€24,27€42,62€
60 11,88€22,68€23,40€45,20€
70 24,28€35,80€
80 29,31€50,40€
100 52,53€
*ro 100 tepayo

Mnyavoprdec mhatokeéparec WS9330
INOX A2

S

(Torykopioec)

Hagoc— 3 4 5 6 8
| Mnxog|
10 11,90€ 7,94€ 11,90€18,17€
12 12,57€ 9,58€ 12,57€18,17€
16  13,56€ 11,24€15,19€19,17€46,92€
20 14,54€12,23€17,52€19,82€50,11€
25  16,53€12,57€19,82€23,13€59,13€
30 18,17€15,19€21,38€ 25,11€65,07€

35 25,43€31,72€55,82€
40 17,52€31,07€ 34,03€ 63,42€
50 31,72€40,97€ 63,42€
60 40,30€41,30€72,81€

*ra 100 Tepdyna

Mnyavoprosc tponelocidcic DIN84
INOX A2

S

Mayoc— 3 4 5 6

| Mrjog]
3-8 3,84€4,28€ 6,08€
10  3,68€4,56€ 6,48€ 7,80€
12 3,84€5,28€ 6,72€ 8,16€
16 4,16€3,92€ 7,28€ 9,12€
20 4,40€4,28€ 7,92€ 10,08€
25  4,64€5,48€ 8,56€ 11,24€
30 4,96€6,24€ 9,76€ 12,96€

35 6,72€10,64€14,00€

40 8,56€11,84€15,20€

45 12,20€17,12€

50 13,44€17,68€

60 15,84€22,00€
*ro 100 Tepayo

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH

67



ANO=EIAQTA // Mnxavopideg-Kaoovopideg /A\lpumir;iulrn

'

Mnyavoprdosc gaxnic DIN966 (INOXx A2

Mayoc— 3 4 5 6 IMayoc— 3 4 5 6

| Mijkog] | Mijxog| //

6 2,00€2,80€ 25 4,40€ 6,60€ 10,00€15,50€

8 2,00€3,00€ 30 6,20€ 7,60€ 17,20€

10 2,20€3,30€5,50€10,00€ 35 8,80€ 13,60€20,60€

12 2,50€3,60€6,00€10,00€ 40 10,00€15,00€22,00€

16  2,70€4,40€ 10,80€ 50 28,80€

20 3,60€5,30€8,40€12,50€ 60 22,50€33,00€

*10, 100 tepdyio

, Mnyovoprdosc mropns WS9460 1 MnyavoProsg epelatseg 1( Mnyovoprdoec metaiovow
@ INOX A2 @ WS9470 INOX A2 DIN316AF (INOX A2

Moyoc— 4 5 6

| Mijkog|
8  4,00€ 6,80€ Moxoc— 4 5 6 Mayoc— 4 5 6 8
10 4,00€ 7,00€ 12,00€ | Mnjkog) | Mijxog)
12 4,40€ 7.30€ 12,60€ 10 6,40€ 9,00€ 16 60,00€ 60,00€ 66,00€124,00€
16 13,20€ 12 9,20€ 12,60€ 20 60,00€ 60,00€68,00€128,00€
25  6,60€11,00€ 16 10,50€ 25  83,00€65,00€74,00€130,00€
30  9,30€12,50€19,00€ 20 11,00€ 30 83,00€66,00€89,00€140,00€
35 17,00€25,50€ 25 14,64€19,20€ 40 89,03€140,05€
40 17,00€28,50€ 30 21,60€ 50 95,15€188,00€
*ta 100 tepdyna | *ta 100 Tepdya I *ta 100 tepdya
Kaoovéproeg DIN603 INOX A2
Méxoc— § 10 12 Tlxo— 8 0 12
| Mijkog) | Mnikog|
20 16,54€23,59€ 92 34,16€ 75,11€ 113,89€132,34€
25 18,45€23,59€ 44,75€ 84,07€ 100 37,17€ 82,67€ 125,28€146,57€
30 20,34€30,30€ 46,37€ 84,07€ 110 134,77€159,17€
35 22,51€29,82€ 48,27€ 87,32€ 120 125,79€140,23€161,34€
40 24,41€27,13€ 52,33€ 90,85€ 130 134,75€149,42€ 168,13€
45 26,30€30,37€ 53,97€ 94,36€ 140 140,14€158,10€175,44€
50 27,73€33,85€ 56,13€ 101,77€ 150 181,65€164,05€ 244,06€
60  28,47€44,75€ 84,07€ 107,11€ 160 337,26€
70  30,65€46,36€ 88,94€ 115,51€ 180 436,13€
80 31,47€49,62€102,50€123,38€ *ra 100 tepdyo

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH
68



ANOZ=EIAQTA //

MevTeo€deg

Mevtecedes coinvov M8136 INOX A4

N

Mevtecédec pe imrho wipo M8018 INox a4

»'—1 I o— B —< -d}-H
L © ©
| o
| ‘ | o
L]
| ~ ® ©
L D H T H L B H Tyj
T0mm20mm 25mm4,30€ D 4 80mm 30mm 1,5mm 8,80€ @
Mevteoédec qutoi M8233 INOX A4 ] Mevteoédec quroi M8234 INOX A4 |
©
@_ © ©
L B G E H Tyj - L B H Tpj 9 +———-
38mm 38mm 25mm 25mm 4mm 6,85 € [©) ‘ #H 57mm 38mm4,5mm §,12€ © ©
50mm 50mm 32mm 35mm4mm 9,72 € " E 76mm 38mm4,5mm 6,88 € Ser—a—
| Mevreodeg yoroi otpdyyvror M8428 (INOX A4 ] Mevreoédeg M8429 INOX A4 |
™ L "
- ]
| @ | |
| I
. . : : © ©
L B H Ty - L B H Ty | -
64mm 64mm 4mm 6,03€ §| 8lmm 64mm 4mm 16,33 € e —sr—1
Mevreoedeg pe mipo M8238 INOX A4 ] Mevreoédec pakpootevor M8235 INOX A4
©
©
©
kL1
©
: - @]
- ] ® ¥ © L B H Ty
L B H Twnq ? A\ @ | | 103mm 27mm 4,5mm 5,36€ | 1] ©J
71mm28mm 6mm 16,80€ “r . L “| | 152mm 30mm4,5mm 7,36€ 0 B
. 7 J

69



ANOZEIAQTA //

MevTeo€deg

Mevreoédec pe yovaro M8237 INOX A4

| [ Mevresédec yuroi drapodpevor M8239 INOX A4

*n potoypagio deiyvet de£16

-

T i T | ik
oHo i
© - - B
©HO| | o ||
L = L (o
L B H HI Ty L . Tmog L B H Ty T ol
54mm37mm4,5mm 14mm 5,62 € H: % Apiotepdc 92mm 36mm Smm 10,40€
70mm 37mm4,5mm 14mm 6,80€ ":1. Ae&ioc 92mm 36mm Smm 10,40€ © |
A \ = F

Mevteoédec yuroi M8280 INOX A4

Tomog L B H Ty © ©
A 76mm 38mm4,5mm7,44€
B 102mm38mm4,5mm8,48€ ©

1 Mevrecédeg yotoi tomov "T'" M8281 INOX A4

L Bl B2 H Ty
195mm 98mm 20mm 5mm 25,76€

"\

Mevreosdec ofpak M8045 iNoX A4

\ ([

Mevreoédeg poxpootevor M8046 INOX A4

B o l+H
0°0 -

L B H Ty J L B H Tyj ®)
47mm 30mm 1,5mm 2,90 € - 75mm 20mm 1,5mm 3,83€ - 2
75mm40mm 1,5mm 4,80€ @ @ 85mm 30mm 1,5mm 3,61€ (@)
80mm40mm 2,5mm 4,05€ @ | 100mm40mm 1,5mm5,22€ | ©

Mevreoedeg pakpoctevor M8047 INOX A4

L B H Ty
80mm 20mm 1,5mm 3,06€
90mm 30mm 1,5mm 3,51€

Mevreoideg M8043 INOX A4

L B

H Ty

100mm 40mm 1,5mm 3,92 €

130mm40mm 1,5mm 5,09€




ANOZEIAQTA // Mevicoroet

Mevteoédec M8049 (INOX A2

1

r

Mevtecsdec M8150 (INOX A2

B L HD T
A 30 40 1,539 3,43€
B 40 40 1545 2,81€ B L H D T
C 40 60 1,54,5 3,15€ i A 25 30084,5241€ .
D 50 60 1,55,5 3,68€ | |B28,530084,52,51€
E 60 60 1,54,5 4,08€ C 35 400,84,52,34€
F 50 80 1,54,5 6,03€ . D 40 400,84,52,67€
G 60 80 1,54,5 4,80€ . fo| | E 40 500,84,52,02€ [TTIID: [®
H 70 80 1,54.5 6,24€ ' F 50 500,84.51,72€
I 80 80 1,54,5 7,25€ © G 50 600,84,52,24€ © ) | |
P 1001001,54,510,54€ \———ﬁr‘n «+ U IH 55 700,84,52,67€ \———ﬁ—‘n v U
\ J \ Siby J
Mevreoedeg mhoxe AKSSSN20 INox A4 1 Mevrteo£deg pe poviepav AKSSSB20 1Nox A4 ]
Mijkog MAatog Mayog Ty
3" 3" 2mm 5,50€
Mjkog ITAérog Mayog Ty 34" 3%" 2mm 6,63€
3" 3" 2mm 5,00€ 4" 3" 2mm 7,00€
32" 3%" 2mm 6,00€ 4" 3" 2mm 8,00€
4" 3" 2mm 6,25€ 4" 4"  2mm 8,50€
4" 32" 2mm 6,63€ 4" 4"  3mm 12,00€
4" 4" 2mm 7,00€ 45" 4%"  3mm 13,00€
| Mevreosdec poppov ART854 (INOX A4) |[ Mevreosdec popBov koproi ARTS52 INOXA4
e - 0 " @ O
Y \ -
- - = e w
A B Ty ADEGH A B Tynq
40mm 70mm 5,80 € ) 40mm 55mm5,50€

Mevteo£deg OLUIPOVUEVOL UPIOTEPOL INOX 18/8

Kodwéc A B Tunj
7324  60mm40mm2,12€
7326  70mm50mm2,75€

.

2 &

Mevtesédeg drapovpevor 0510l INOX 18/8

Kodwic A B Ty
7323 60mm40mm2,12€

7325 70mm50mm?2,75€

\

71



Fwvieg | Corners Heplypa(ct%)?_gscriptior Wee.ilz.ht I'Isplypa(<||i;]'d_|bl(3_lf;scriptior W@éig.ht
15x15x1,9 0,132 10x10x4,0 0,100
20x20x1,5 0,160 30x20x1,50 0,200
25x25x1,5 0,200 50x20x2,0 0,370
30x30x1,5 0,240 60x60x3,0 0,950
40x40x1,5 0,318 75x50x5,0 1,640
I . 40x20x1,5 0,240 60x20x1,5 0,320
‘%Lg‘ﬁ? 50x30x3,0 0,620 60x40x4,0 1,040
50x50x2,0 0,530 80x40x4,0 1,250
60x20x1,5 0,320 80x20x1,5 0,400
100x20x2,0 0,640 100x100x8,0 4,150
100x50x5,0 1,960 120x20x2,0 0,750
I\dpsg | Profiles I'Ix-:p|ypaq2r|’1)iTE))escriptior W@e.izht I'Isplyp(x(?rl'l)l_ll_l;escriptior v\%ig'm
20x3 0,160 80x50 1,080
20x5 0,270 80x10 2,160
25x3 0,200 80x15 3,240
25x5 0,340 100x8 2,160
30x3 0,240 100x10 2,700
40x5 0,540 100x20 5,400
30x5 0,410 100x30 8,100
30x10 0,810 120x10 3,240
40x3 0,320 120x15 4,860
T 40x5 0,540 120x20 6,480
_:f[ 40x10 1,080 150x10 4,050
I [ 40x15 1,620 150x15 6,080
40x20 2,160 150x20 8,100
50x3 0,410 200x10 5,400
50x5 0,620 200x15 8,100
50x8 1,080 200x20 10,800
50x10 1,350 20x10 0,540
60x3 0,490 40x8 0,860
60x5 0,810 60x8 1,300
60x10 1,620 95x11 2,822
60x15 2,430 95x11 2,822
Kapé | Square I'Ispwpa((t;’]d)l()_re)scriptior v\%iz'ht I'Ispwpa((ﬁ)r’:é)l()_;scriptior Wee-ight
12x12x1,0 0,120 40x40x1,5 0,624
——
T 15x15x1,5 | 0220 | 50x50x15 | 0,786
H - 20x20x1,5 0,300 100x50x2,0 1,580
25x25x1,5 0,380 60x20x1,5 0,620
| 30x30x1,3 | 0,403 | 60x40x2,0 | 1,041
40x20x1,5 0,460 80x20x1,3 0,684

72

/A\luminium
Profile

ZNTACTE pag
TIMEG

ZnNTNOoTE Pag
TIMEG

ZnNTNoTE Pag
TIMEG



Aluminium Profiles AT

// Profiles AT

Kupé | Square I'Ispwpa((EQ"_lbl(DT(-:;scriptior Wee.ig.ht I'Isplypq((ﬁ;']g)l(?r(;scriptior V\%ight
80x40x1,3 0,824 100x40x1,6 1,180
" - 80x80x1,8 1,520 100x50x2,0 1,580
100x20x1,5 0,950 100x100x2,0 2,120
N 120x20x1,6 1,180 100x100x4,0 4,150
FwARveg | Tubes I'Isplypang )|(1I_3)escriptior V\%iZHt I'Isplypang )|(TD)escriptior V\%ight
O8x1mm 0,060 ®30x2mm 0,480
O10x1Tmm 0,080 ®32x2mm 0,510
d12x2mm 0,170 d42,4x2mm 0,685
®16x1,5mm 0,184 ®50x2mm 0,814
T ®16x3,5mm 0,370 ®60x2mm 0,984
d18x2,0mm 0,270 d70x2mm 1,154
-—0D ®20x1,85mm | 0,285 ®80x2mm 1,320
®22x1,5mm 0,260 ®100x2mm 1,663
®25x2mm 0,390 ®120x3mm 1,154

®26x2mm 0,407

Aapapiveg
AAoupiviou

Mepiypaen | Description
(DxT)

Mepiypaen | Description
(DxT)

2000x1000x0.60 mm

2500x1250x0.60 mm

2000x1000x0.80 mm

2500x1250x0.80 mm

2000x1000x1.00 mm

2500x1250x1.00 mm

2000x1000x1.50 mm

2500x1250x1.50 mm

2000x1000x2.00 mm

2500x1250x2.00 mm

2000x1000x3.00 mm

2500x1250x3.00 mm

2000x1000x4.00 mm

2500x1250x4.00 mm

2000x1000x5.00 mm

2500x1250x5.00 mm

2000x1000x6.00 mm

2500x1250x6.00 mm

2000x1000x8.00 mm

2500x1250x8.00 mm

/A\lpuminium

rofile

ZNTACTE Pag
TIMEG

ZnNTNOoTE Pag
TIMEG

ZnNTNOoTE Pag
TIMEG

2000x1000x10.00 mm
2000x1000x12.00 mm
2000x1000x15.00 mm

2500x1250x10.00 mm
2500x1250x12.00 mm
2000x1000x20.00 mm

- MITOPOYN NA KOINOYN KAI NA ENEZEPTAZTOYN KATOIIN NMAPAITEAIAZ
- EMIZHZ YIIAPXOYN AAMAPINEZ TYTNOY KPIOAPAKI & MIMAKAABQTO

H ETAIPIA MAZ AIAGETEI YMNEPZYITXPQNO E=OMNAIZMO OINQzx
2TPANTZA - WAAIAI - KOMNH & KOAAHZH LASER

73



A\uminium
Profile

TIMOKATAAOI'Oz

E=APTHMATA BIOMHXANIKQN META®OPEQN
ACCESSORIES CONVEYOR SYSTEMS

@& www.aluminium-profile.gr

= sales@aluminium-profile.gr




MINIATURE DRIVE _

& J
CODE PRODUCT NAME A B (o] L L1 | Roller Material | Weight CTIMH/TMX)
TL 10 30x30 Drive plate 82| 30 | 13 | 115 | 100 | 61802 | ,2KOHFC | 96 gr C 7,00 € )
TL 20 45x45 Drive plate 10.2| 45 |13.6| 152 |129.5] 1202 | ,XKAHFO 1 210 gr ( 8,00 € )

4 " ) 4 )

\ y, S ' Y

CODE PRODUCT NAME A| B (o] L L1 | Roller Material | Weight CTIMHITMX)
TL 30 30x30 Tension plate | 82| 30 | 13 | 115 | 100 | 61802 | ,2K\HPO "1 g6 gr ( 7,90 € )
TL 40 45x45 Tension plate 10.2| 45 |13.6| 152 [129.5| 1202 | ,XCOHFC 1 207 gr C 9,50 € )

TENSION DRIVE PL‘
4 I

o J S J
CODE PRODUCT NAME A| B | E | L |L1|Roller| Material | Weight CnMHrer)
TL 50 | 30x60-60x60 Tension plate | 80 | 38 | 20 | 165 | 60 - | AmovmiNio | 863 gr <30,00 €>
TL 60 30x60-60x60 Drive plate 80 | 38 | 20 | 165 | 108 | 6004 | AAOYMINIO | 931gr (32,00 €>
TL 70 | 45x90-90x90 Tension plate | 90 | 55 [ 193|200 |69.8| - | Anovminio | 1043 gr <32,50 €>
TL 80 45x90-90x90 Drive plate | 90 | 55 19,3 | 200 | 132 | 6004 | AAOYMINIO | 1115 gr <36,00 €>

75



(" TEnsioN A ( )
N J N\ J
cope PRODUCT NAME Material | Weight | (‘TIMHISET )
TL 100 23x127 Tension Plate Aovmnio | 1162.9r (19,00 €>
TL 120 23x127 Drive plate mimouo | 9720 | (19,50 €)

- ~ -
TENSION DRIVE
|
N J N
CoDE PRODUCT NAME Material | Weight CTIMHITMX)
TL 90 23x75 Tension Plate | oo | 181or | (10,00 €)
TL 130 2375 Drive plate woio | 2580 | (19,00 €)

25x105 MODULAR-PA

CONVEYOR ‘

4 I 4 I

g J - J
CODE PRODUCT NAME A B E L L1 Roller Material | Weight (TIMHITMX)
TL105 M 25x105 Modular conveyor left 90 | 40 | 14 | 170 | 130 | 6004 | AAOYMINIO | 577 gr ( 24,00 €>
TL105R 25x105 Pallet conveyor right 90 | 40 | 14 | 170 | 130 | 6004 | AAOYMINIO | 577 gr ( 24,00 €>
TL105 P 25x105 Pallet conveyor plate 120 | 65 | 17 | 250 | 185 | 6005 | AAOYMINIO | 1343 gr ( 46,00 €>
TL150 M 25x150 Modular conveyor left 130 | 65 | 17 | 245 | 165 | 6005 | AAOYMINIO | 1400 gr ( 46,00 €>
TL110R 25x150 Modular conveyor right [ 130 | 65 | 17 | 245 | 165 | 6005 | AAOYMINIO | 1400 gr ( 46,00 €>




E=APTHMATA META®OPEQN

MINIATURE CONVEYOR JOINT

PLATE & ROLLER
6 8 10
[ |
4 N\ 4 N
g J g J
CODE PRODUCT NAME A | Af B1| C | D| H | Material | weight | (TIMH/TMX)
TL 1 30x30 Miniature conveyor joint plate | 30 65 48 13 | ANOYMINIO | 129 gr <40,00 €>
TL 2 30x30 Roller pin & connection parts 35,5 65 33 | 17 | AAOYMINIO |105,5 gr <11 ,00 €>
TL 3 45x45 Miniature conveyor joint plate | 45 87,5 65,5 17,5 | AAOYMINIO | 343 gr <53,00 €>
TL 4 45x45 Roller pin & connection parts 36 57 26 | 14,6 | ANOYMINIO | 186,5 gr (27,00 €>
- 23x75 & 23x127 CONVEYOR JOINT
E=APTHMATA META®OPEQN
PLATE & ROLLER
4 N 4 N
N - J N J
CoDE PRODUCT NAME A | B | c| Materia |weight| (TIMHITMX)
TL 2375 LR 23x75 Conveyor joint plate & roller 48 | 185 | 127 | AAOYMINIO | 450 gr CG0,00 €>
TL 237550 | 23x127 Roller ® 50 pin & connection parts | 29 | 36 | 50 | AAOYMINIO | 100 gr (26,00 €>
4 N 4 N
) P
| e
3 oy o “Ae .‘
.
- J g J
CODE PRODUCT NAME A | B | c| Material |weignt| (TMHTMX)
TL5R 23x127 Conveyor joint plate right 48 | 185 | 127 | AAOYMINIO | 1289 gr C 63,00 €>
TL5L 23x127 Conveyor joint plate left 48 | 185 | 127 | AAOYMINIO | 1289 gr ( 63,00 €>
TL 6 23x127 Roller ® 50 pin & connection parts | 39 | 60 | 50 | AAOYMINIO | 230 gr C 19,00 €>
TL 8 23x127 Elevator interior roller connection | 32 50 | AAOYMINIO | 52gr C 7,00 € )

77



EZAPTHMATA META®OPEQN METAL SENSOR HOLDERS
6 8 10
[ | N>
4 N 4 )
G J - J
CoDE PRODUCT NAME Al B|c|D |d] maera | weight | (TIMHTMX)
TL 41 Sensor Connection Cassete Flat | 110 | 30 | 48,8122 | 6.2 HRP 61gr C 1,00 € )
TL 42 Sensor Connection Cassete Flat | 175 | 30 | 938 (122 |62 | HRP | 106gr (1,35€ )
TL 43 Sensor Connection Cassete Flat (L)| 128 | 30 | 48 |12,2 | 6.2 HRP 97 gr C 1,80 € )
TL 44 Sensor Connection Cassete Flat (S)| 168 | 30 | 28 (12,2 | 6.2 HRP 118 gr C 2,30 € )
TL 45 Sensor Connection Cassete Flat | 110 | 30 | 48,8 18,2 | 6.2 HRP 61,5 gr ( 1,00 € )
TL 46 Sensor Connection Cassete Flat | 175 | 30 | 93,8 (18,2 | 6.2 HRP 101 gr C 1,35 € )
TL 47 Sensor Connection Cassete Flat (L)| 128 | 30 | 58 [18,2 | 6.2 HRP 106 gr C 1,60 € )
TL 48 Sensor Connection Cassete Flat (S)| 186 | 30 | 53 (18,2 | 6.2 HRP 146,5 gr C 2,50 € )
EZAPTHMATA META®OPEQN PLASTIC SENSOR HOLDERS
4 ) 4 M
G J - J
copE PRODUCTNAME | A | B | ¢ [ D | d | E | Material | weignt | (TiMH/TMX)
TL 31 Sensor Holder ® 10 | 60 | 20 | 30 |@19 |@10| 8 |MAASTIKO| 20gr (5,70 €>
TL 32 Sensor Holder ® 12 | 60 | 20 | 30 (@19 |@12| 6 |MAASTIKO| 17gr (2,50 €>
E=APTHMATA META®OPEQN REFLECTOR CONNECTION PLATE
4 ) 4 7
I ' %“‘m\i >
G i g/ - J
copE PRODUCT NAME Al 8| c|p|a] maera | weignt | (TmMHTMX)
TL 33 Flat horizontal 3 mm 64 | 92 | 44 |33 | 7 HRP 126 gr C 2,00 € )
TL 34 Flat vertical 3 mm 147,5| 50 | 48,8|3,6 | 6.2 HRP 130,5 gr C 2,00 € )
TL 35 Conveyor (U) plate 146 | 90 | 103 | 8 8 HRP 685 gr C 7,00 € )

78



E=APTHMATA META®OPEQN CONECTION S .

& TORQUE ARMS
6 8 10
34
4 N 2\
TCONNECTION ~ GRADE T
\§ . J J
CoDE PRODUCT NAME A | B | Cc | D| Matera | Weight | (TIMHTMX )
TL 51 T Connection 120 | 126 8,5 ZINC 283 gr C 2,90 € )
TL 52 Grade T Connection 120 | 126 | 3 | 85 ZINC 271 gr ( 3,20 € )
4 N 2\
FLAT T
\§ J J
CODE PRODUCT NAME A | B | c | D | Material | Weight (TIMH/TMX)
TL 53 Flat T Attachment 175 175 | 3 | 85| znc | eoter | (5,50€ )
TL 54 T Flat Attachment 180 |100| 3 | 85| zINC | 5635gr C 5,20 € )
4 ] e N 4 2\
S = =y, N
‘> %) £y £
= - g —_— o .
= . é—“?ﬁ# \./v_;/"”-’l/ ;///
/@ ‘ ‘e ?\?-;;
ol =,
S C,//
\ i J \§ J
CODE |PRODUCTNAME | D d A B L Material | Reducer Type | Weight <T|MH/TMX>
TL 55 | Torque arm | @45 | @8,2| 65 |1435| 101 |3 mm ZINC EV 25 95,5 gr C 2,50 € )
TL 56 | Torque arm | @55 | @8,2| 78 | 164 | 115 |3 mm ZINC EV 30 12759 | (3,00 € )
TL 57 | Torque arm | @60 | @8,5| 90 | 155 | 100 |3 mm ZINC EV 40 125 gr C 3,50 € )
TL 58 | Torque arm | @70 | @8,5| 100 | 170 | 106 |3 mm ZINC EV 50 164 gr C 4,60 € )
TL 59 | Torque arm | @80 |@10,5/ 115 | 200 | 130 |5mm ZINC EV 63 333 gr ( 6,80€ )
E=APTHMATA META®OPEQN TENSION BOLT-TENSION NUTS
4 N\ 4 N
N @Q
e
\§ J \§ J
CODE PRODUCT NAME Material | Weight (TIMHITMX)
TL 71 23 x 127 Tension bolt STEEL8.8 | 50gr C 2,00 € )
TL72 23 x 127 Tension nut STAINLESS| 29gr ( 2,20 € )

79



E=APTHMATA META®OPEQN

GRADE METAL FEET

6 8 10
(N | N |
e A
Ty
7 /
g _
.f'/’
& /
4 b,

\_ Y
CoDE PRODUCT NAME Al B | Lmin Lmax | Material | Weight | ( TIMH/TMX )
TL 73 Grade Metal Feet (small) 180 | 233 570 870 ZINC | 3.12Kg (27,00 €>
TL 74 Grade Metal Feet (big) 200 | 240 750 1200 ZINC | 4.82Kg <43,00 €>

ESAPTHMATA META®OPEQN SPEED ADJUSTMENT PANEL
e A
= I
L

\_ Y
CODE PRODUCT NAME Dimension/mm | Inverter Weight (TIMH/TMX)
TL 75 Speed Panel inverter 0,37 Kw | 145x150x230 | LS-SV-IE5 | 2.150 gr C350,00 €>
TL 76 Speed Panel inverter 0,37 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr <380,00 €>
TL 77 Speed Panel inverter 0,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr <400,00 €)
TL 78 Speed Panel inverter 1,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr <500,00 €>

80



BOTTOM RETURN

E=APTHMATA META®OPEQN ROLLER BEARINGS

4 I 4 I

o J o 4
CODE PRODUCT NAME A | B | C| @D Material |Weight CI'IMH/TM)D
TL 93 Bottom return roller bearing | 100 | 30 | 9 | 7 | AAOYMINIO | 66 gr (8,00 €>
TL 93/50 Roll Bed @50 25 |505|7.5 8 Nylon  |10,66 gr (0,80 €>
TL 93/51 Roll Bed @51 30 (51,5 9 | 14 Nylon  1455¢r (0,90 € )
EZAPTHMATA META®OPEQN PLS ROLLER CHAIN GEAR
e N e N
\_ J . J
CoDE PRODUCT NAME A| B |D|d| Materal Weight| (TIMHTNX)

TL 94 Roller chain wheel ®50 1/2 | 56 | 24,8| 50 | 12 | NAASTIKO | 82gr (17,00 €>
TL 95 | Double roller chain wheel ®50 1/2 |72,5|24,5| 47 | 12 | naasTIKO | 87,6 gr (18,00 €>

EZAPTHMATA META®OPEQN PLASTICS ROLLER HEAD

CODE PRODUCT NAME A | B |@D @d| Material |Weight (TlMH/TM@
PLS 50 | PLSrollhead ®50 x 1,5 |27,5(19,5| 50 | 47 | naasTiko | 60gr (2,50 €>
PLS 30 PLSrollhead ®30x1 | 27 | 19 | 30| 28 | naazTko |11.50r ( 1,50 €>

PLS 30 D | PLSrollhead ®30x 1,5 | 27 | 19 | 30| 27| nmazo | 1or | (1,50 €)
PLS 20 PLS rollhead ®20 x 1 | 26 | 18 | 20| 18 | MAAITIKO | 5.5¢r ( 1,40 €>
PLS 40 | PLSrollhead ®40x1,5 | 27 | 19 | 40| 38 | MAASTIKO | 60gr ( 1,50 €>

81



E=APTHMATA META®OPEQN

CONSOLE CONNECTION KIT

& SHAFT
4 N 4 N
CLAMP
l .e."(,'{ = ’ .
34 @
\_ " =) \_ J
coDE PRODUCT NAME a|B|c|o| materia weignt| (TIMHTMX)
TL 61 Console body connection clamp |55,5| 21 [21,8|@12| nAAsTIKO | 32,5 gr (1 ,70 €>
TL 62 Console cross holder ®12 56 | 39 |21,5|@12| NAASTIKO | 27 gr (1 ,70 €>
/ N 4 )
DOUBLE SINGLE
- p——
. o 24
\ 11.80
\ - J - J
CODE PRODUCT NAME A | B | C | D| Matera | Weight (TIMHTMX)
TL 63 Single shaft holder ®12 38 | 24 | 27 | @12| MAASTIKO 24 gr (2,00 €>
TL 64 Double shaft holder ®12 92 | 60 | 28 | @12| MAASTIKO 96 gr (9,70 €>
. ) 4 N
]
o b
- i J & J
CODE PRODUCT NAME A D d H Material Weight CI'IMHITM)D
TL 65 Frame side connection mount | 93,5 | @50 | @10 | 77,5 | NAASTIKO 486 gr (11 ,00 €>
/ N 4 )
\ J - J
CoDE PRODUCT NAME Al o | a|n| matera | weight | ( TimH )
TL 66 Triple Feet 44 |@482| @50| 140 | NMAASTIKO | 1.045gr (54,00 €>
TL 67 Frame loner connection mount| 70 | @50 | @10 | 175 | MNAAZTIKO 344 gr (11 ,00 €>

82



EZAPTHMATA META®OPEQN BRACKET CONNECTION
6 8 10
[ i - |
4 N\ 4 N
N\
o i J g J
CODE PRODUCT NAME oD | M | L Material weight | (TIMHTMX )
TL 131 Console connection kit Plastic 203 gr C 5,90 € )
TL 139 | Miniature console connection kit Plastic 179 gr ( 7,50 € )
TL 133 |console connection shaft (120mm)| @12 | M8 | 120 | Stainless steel | 103 gr C 3,00 € )
TL 134 |console connection shaft (150mm)| @12 | M8 | 150 | Stainless steel | 130 gr C 3,50 € )
TL 135 |Console connection shaft (200mm)| @512 | M8 | 200 | Stainless steel | 1759r | (4,50 € )
- SIDE BARRIER PROFILE
E=ZAPTHMATA META®OPEQN & FRICTION PLASTICS
6 8 10
|
4 N\
PBB 40 PB 40 >
— : v <
o 8065 y ‘9
Sl —ca— ) g
52 N J
4 N
PBB 60 PB 60
, S o
”"l i N - J/_' sl
| @ ':
7 82 \ J
CODE Size Quality |L (mm) MT:nent of inTyrtia Area Mass (Kﬁ“&'&’ﬂ. Xsr: IQ;;?AZ)
PB 40 40mm | 6063 | 6000 | 050cm’ | 1,06cm' | 1,52cm? | 0,41Kg/m (6,55 €X5,90 €>
PB 60 60 mm 6063 | 6000 | 0,77cni | 6,10cm’ | 2,83cm? | 0,77Kg/m (11 ,40 €X10,30 €>
CODE Size PRODUCT NAME A | B | C | Material Mass (TIMH/m >
PBB 40 @ 40mm Side barrier (10x40) | 40 |95/ 45| PVC | 0,26 Kgim (3,40 €>
PBB 60 60 mm Side barrier (13x60) 60 | 13| 7 PVC 0,35 Kg/m (5,20 €>

83



E=APTHMATA META®OPEQN

®76 TENSION DRUMS

e N e
i
|

\§ J -

CODE PRODUCT NAME | ALoWiUM [oapaos| L | L1 | AA | oD | a1 | Gz | Material | weight | (TIMH/TMX )
TL 151 ®76 Tension drum | 23 x 127 300 (366315 14 | 76 | 20 | 9 |AAOYMINIO| 2557 gr (60,00 €>
TL 152 ®76 Tension drum | 23 x 127 450 | 516 | 465| 14 | 76 | 20 9 |ArOYMINIO| 3.607 gr (75,00 €>
TL 153 ®76 Tension drum | 23 x 127 600 | 666 |615| 14 | 76 | 20 | 9 |AAOYMINIO| 4.646 gr (83,00 €>
TL 154 ®76 Tension drum | 23 x 127 800 |866|815| 14 | 76 | 20 9 |ANOYMINIO| 6.321 gr (95,00 €>
TL 155 |®76Tensiondrum| 23x127 | 1000 |1066[1015| 14 | 76 | 20 | 9 |AmnovmiNio| 7.432gr (1 05,00 €>
TLT 30 ®76 Tension drum 23x75 300 | 366|315 | 14 76 20 | 8.5 |AAOYMINIO| 2.405gr (60,00 €>
TLT 45 ®76 Tension drum 23 x75 450 | 516 | 465 | 14 76 20 | 85 |AAOYMINIO| 3.457 gr <78,00 €>
TLT 60 | ®76 Tensiondrum| 23x75 600 | 666 | 615| 14 | 76 | 20 | 85 |AAOYMINIO| 4.509 gr (83,00 €>
TLT 80 ®76 Tension drum 23x75 800 | 866 | 815 | 14 76 20 | 85 |AAOYMINIO| 5.911gr (95,00 €>

TLT 100 | ©76 Tension drum | 23 x75 1000 |1066]1015| 14 | 76 | 20 | 85 |anovmmio| 7.314 or (1 05,00 €>
E=APTHMATA META®OPEQN ®76 DRIVE DRUMS
e N e
H;i ZRs
P ___
- Y, \

CODE PRODUCT NAME | ALoeUM [oapaos| L L1 | A | oD | @dt | Gz | Material | weight | (TIMHTMX )
TL 156 ®76 Drive drums | 23 x 127 300 |[5166(315| 82 | 76 | 20 | 18 |AAOYMINIO| 2.943 gr (65,00 €>
TL 157 ®76 Drive drums | 23x 127 450 |666.6(465| 82 | 76 | 20 | 18 |AAOYMINIO| 3.973gr (74,00 €>
TL 158 ®76 Drive drums | 23x 127 600 |[816.6(615| 82 | 76 | 20 | 18 |AAOYMINIO| 5.017 gr (83,00 €>
TL 159 76 Drive drums | 23 x 127 800 [1016.6/815| 82 | 76 | 20 | 18 |AnovmiNiO| 6.385 gr (1 25,00 €>
TL 160 76 Drive drums | 23x127 | 1000 |1216.6/1015| 82 | 76 | 20 | 18 |AAOYMINIO| 7.810gr (1 30,00 €>
TLD 30 ®76 Drive drums |  23x75 300 |464.1(315| 82 | 76 | 20 | 18 |AAOYMINIO| 2.745gr (65,00 €>
TLD 45 ®76 Drive drums 23x75 450 |614.1|465 | 82 76 20 18 | AAOYMINIO| 3.797 gr (74,00 €>
TLD 60 | ®76 Drivedrums | 23x75 600 |764.1(615| 82 | 76 | 20 | 18 |AnovmiNio| 4.849 gr (83,00 €>
TLD 80 ®76 Drive drums 23x75 800 |964.1|815| 82 76 20 | 18 |AAOYMINIO| 6.252 gr (115,00 €>

TLD 100 ®76 Drive drums 23x 75 1000 |1164.111015| 82 | 76 | 20 | 18 |AAOYMINIO| 7.654 gr (1 30,00 €>

84



®114 TENSION DRUM‘

4 ) 4
HESS=SS==S==S==SS====:==3f ‘ g <
2 %:{g E'L_:_ ‘@'ﬂ
o J o
CODE PRODUCT NAME |0APAOE| L | L1 | A | oD | a1 | ga2 | Material | weight | ((TIMH/TX )
TD 30 ®114 Tension drums| 300 366 | 315 | 14 114 25 9 |AAOYMINIO| 4.446 gr (85,00 €>
TD 45 ®114 Tension drums| 450 516 | 465 | 14 114 25 9 | AAOYMINIO| 6.231 gr Cl 00,00 €>
TD 60 ®114 Tension drums| 600 | 666 | 615 | 14 | 114 | 25 | 9 |AAOYMINIO| 7.665 gr (1 20,00 €>
TD 80 ®114 Tension drums| 800 | 866 | 815 | 14 | 114 | 25 | 9 |AAOYMINIO|10.220 gr (1 45,00 €>
TD 100  |®114 Tension drums| 1000 |1066|1015| 14 | 114 | 25 | 9 |AAOYMINIO| 12.540 gr (1 75,00 €>
TD 120 |®114 Tension drums| 1200 |1271|1220| 20 | 114 | 30 9 | AAOYMINIO| 17.160 gr (280,00 €>
e ™ e
\_ Y, \_

CODE PRODUCT NAME |®APAOE| L | L1 | A | @D | @d1 | @d2 | Material | Weight C Ko )
TD30A |®114Drivedrums | 300 | 541|315| 138 | 114 | 25 | 25 |AarovmiNiO| 5.235gr CQ0,00 €>
TD 65 A | ®114 Drivedrums | 450 | 691|465 | 138 | 114 | 25 | 25 |AAOYMINIO| 6.979 gr CI 05,00 €>
TD 60 A ®114 Drive drums | 600 | 841|615 | 138 | 114 | 25 | 25 |AAOYMINIO| 8.658 gr <1 30,00 €>
TD 80 A | ®114Drivedrums | 800 |1041|815 | 138 | 114 | 25 | 25 |AAOYMINIO| 10.980 gr @60,00 €>

TD 100 A | ®114 Drive drums | 1000 |1241|1015| 138 | 114 | 25 | 25 |AAOYMINIO|13.280 gr @90,00 €>
TD 120 A | ®114 Drive drums | 1200 |1500(1220| 138 | 114 | 30 | 25 |AAOYMINIO| 18.200 gr <300,00 €>

85



E=APTHMATA META®OPEQN ®50 ALUMINIUM ROLLER

4 ) 4
L
L1
L2 CAPACITY
250 KG
9 <E— j F =
N 4? = 4\L L =
\§ J \§

CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight (TIMH/TMX)
TL 290 ®50 x 290 Aluminium roller 335 | 310 [ 320 | 50 | 8 |AAOYMINIO| 584gr (13,50 €>
TL 440 | 50 x 440 Aluminium roller 485 | 460 | 470 | 50 | 8 | AAOYMINIO| 816gr (16,00 €>
TL 590 ®50 x 590 Aluminium roller 635 | 610 | 620 | 50 | 8 |AAOYMINIO| 1.079gr (18,00 €>
TL 790 ®50 x 790 Aluminium roller 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 1.384gr (22,00 €>

- ~ -
L
L1
| . | CAPACITY
! 300 KG
| = |
S &
N Y N
CoDE PRODUCT NAME L | 11| 2] op| Aa| Mmaterial | Weight (TIMH/TMX)

KNU 29 |®50 x 290 Aluminium KNURLED | 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 880 gr (20,00 €>
KNU 44 |50 x 440 Aluminium KNURLED | 485 | 460 | 470 | 50 | 8 |AAOYMINIO| 1300 gr (24,00 €>
KNU 59 |®50 x 590 Aluminium KNURLED | 635 | 610 | 620 | 50 | 8 | AAOYMINIO | 1720 gr (28,00 €>
KNU 79 | ®50 x 790 Aluminium KNURLED | 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 2280 gr (35,00 €>
KNU 99 |®50 x 990 Aluminium KNURLED | 1035|1010 1020 | 50 | 8 | AAOYMINIO | 2850 gr (42,00 €>

E=APTHMATA META®OPEQN ®51 STEEL ROLLER
e R e
L
L1 .
L2 CAPACITY
‘ 400 KG
8 :‘:«[; ]
N J N
CODE PRODUCT NAME L | L1| L2 | @D | AA | Material | Weight
TL290 S ®51 x 290 Steel roller 318 | 300 | 290 | @51 14 Steel 1603 gr
TL440 S ®51 x 440 Steel roller 468 | 450 | 440 | @51 14 Steel 2426 gr
TL590 S ®51 x 590 Steel roller 618 | 600 | 590 | @51 14 Steel 3162 gr
TL790S ®51 x 790 Steel roller 818 /800 | 790 | @51 | 14 Steel 3987 gr
TL 1000 S ®51 x 1000 Steel roller ~ |1018|1000| 990 | @51 | 14 Steel 4812gr

86



E=APTHMATA META®OPEQN

MINIATURE TENSION DRUMS

e ™ e ™
N J N J
CoDE PRODUCT NAME [0APAOE| L | L1 | oD | @d | Material | Weight | (TIMH/TMX)
TDS 25 @30 Tension drums| 25 42 | 28 | 30 | 15 Steel 160 gr (11 ,30 €>
TDS 55 ®30 Tension drums| 55 72 | 58 | 30 | 15 Steel 346 gr (1 3,60 €>
TDS 85 ®30 Tension drums | 85 102 | 88 | 30 | 15 Steel 645 gr (1 4,70 €>
TDS120 ®30 Tension drums | 120 140 | 126 | 34 15 Steel 855 gr (1 8,00 €>
E=APTHMATA META®OPEQN MINIATURE DRIVE DRUMS
e ™ e ™
§ 1 g
N J N J
CODE PRODUCT NAME | ®APAOX L | L1 | @D| @d | Material | Weight TIMH/TMX
DDS 25 ®30 Drive drums 25 121 28 | 30 | 14 Steel 256 gr 20,00 €
DDS 55 ®30 Drive drums 55 151| 58 | 30 | 14 Steel 455 gr (21 ,50 €>
DDS 85 ®30 Drive drums 85 181| 88 | 30 14 Steel 723 gr (23,00 €>
DDS 120 ®30 Drive drums 120 219 | 126 | 34 14 Steel 989 gr (25,00 €>

87



E=APTHMATA META®OPEQN

KNURLED TENSION DRUMS

e R e R
L
L1
\ | |
o]
|
N J N J
CODE PRODUCT NAME @®APAO:X A | L | L1 |@D | @d | Material | Weight
KNT 40 @45 Tension drums | 40 25163 |43 | 50 | 15 |AAOYMINIO| 170gr
KNT 85 ®45 Tension drums| 85 | 25 |108| 88 | 50 | 15 |AAOYMINIO| 260 gr
KNT 130 | ®45 Tensiondrums| 130 | 25 (153|133 | 50 | 15 |AAOYMINIO| 350 gr
KNT 150 | ®45 Tensiondrums| 150 | 25 (176|156 | 50 | 15 |AAOYMINIO| 390 gr
KNT 175 | ®45 Tensiondrums| 175 | 25 [198(178| 50 | 15 |AAOYMINIO| 430 gr
KNT 200 | ®45 Tension drums| 200 | 25 |226[206| 50 | 15 |AAOYMINIO| 490 gr
KNT 300 | ®45 Tension drums| 300 | 25 |326(306| 50 | 15 |AAOYMINIO| 607 gr
KNT 450 | ®45 Tension drums| 450 | 25 |476|456| 50 | 15 |AAOYMINIO| 950 gr
E=APTHMATA META®OPEQN KNURLED DRIVE DRUMS
4 ) 4 )
L
L1
T )
‘ |~ |
— ——— %E{
A 8 B
\§ J \§ J
CODE PRODUCT NAME ®APAO: | A | B L1 | @D | @d | Material | Weight | (TIMH/TMX)
KND 40 ®45 Drive drums 40 25 | 45 [140 | 43 | 50 | 14 | AAOYMINIO | 270 gr m
KND 85 ®45 Drive drums 85 25 | 45 [185 | 88 | 50 | 14 | ArOYMINIO | 380 gr m
KND 130 45 Drive drums 130 25 | 45 (230|133 | 50 | 14 | AnOYMINIO | 4709r | (24 00 €
KND 150 ®45 Drive drums 150 25 | 45 |253 |156 | 50 | 14 | AnOYMINIO | 510 gr (27,50 €>
KND 175 ®45 Drive drums 175 25 |45 275 [178 | 50 | 14 | AAOYMINIO | 550 gr (28,50 €>
KND 300 45 Drive drums 300 25 | 45 403 | 306 | 50 | 14 | AAOYMINIO | 790 gr (37,00 €>
KND 450 ®45 Drive drums 450 25 | 45 |553 [456 | 50 | 14 | anovminio |1070¢r | (42,00 €)

88



ACETAL CONVEYOR
DRIVE AND TENSION MILLE

N 4 N
J & J
L
L2
L1
A L3
—————— —a—] 1B &
5 8
Q
copE PRODUCTNAME ~ |®APAOX| L | L1 | A | @D | @d | Material | Weight | (TIMH/TMX)
PDM 190 Acetal conveyor tension miller | 190,5 |241,5/209,5| - | @30 | @25 Steel 1270 gr (1 5,00 €>
PTM 190 Acetal conveyor drive miller 190 |344,5/209,5| 119 | @30 | @25 Steel 1650 gr (24,00 €>
N 4 N
J & J
L2
I L
B A L3
e - - > :?
8 8 § 8
coDE PRODUCTNAME ~ |®APAOX| L | L1 | A | @D | @d | Material | Weight | (TIMH/TMX)
PDM 200 Modular conveyor tension shaft | 200 250 | 218 | - |@30| @25 Steel 1300 gr (1 4,00 €>
PDM 300 | Modular conveyor tension shaft | 300 | 350 | 318 | - |@30|@25| Steel 1860 gr (20,00 €>
PDM 400 Modular conveyor tension shaft | 400 450 | 418 | - |@30| @25 Steel 2410 gr <21 ,00 €>
PDM 200 S | Modular conveyor drive shaft | 200 | 353 | 218 | 119 | @30 | @25 |  Steel 1680 gr (23,00 €>
PDM 300 S | Modular conveyor drive shaft 300 453 | 318 | 119 | @30 | @25 Steel 2240 gr (30,00 €>
PDM 400 S | Modular conveyor drive shaft | 400 | 553 | 418 | 119 | @30 | @25 | Steel 2790 gr (40,00 €>

89



ROLLER RAII‘

h e N
/ N Y
CODE | PRODUCT NAME | Material | Weight (TIMHIm*)
RR 35 Roller Rail Zinc | 959 gr/m (1 3,50 €)
AIATIOETAI ZE 6m / 3m BEPTA
h e N
(D%
o
R O<%
;
/ N Y
CODE | PRODUCT NAME | Material | Weight G’IMHITM)D
RC 35 |Roller R Conection sheet|  Zinc 50,5 gr (2,85 €)
h e N
N S
g 3
/ N y
CODE | PRODUCT NAME | Material | Weight G’IMHITM)D
RFS 35 g%ﬁrpﬁiﬁssétgggg Zinc 63 gr (3,1 0 €)

90




MEIMARIDIS

B R 0O S




o

® 2TIC TTapatTavw TIPEG dev TrepIAauBaveTal o O.I.A.

® TpAT1TOG TTANPWHNAG METPNTOIC

® Ta peTa@opIKG eTTIBapUVoUV TOV TTEAATN

® O TTapWV TINOKATAAOYOG KATAPYEI TOV TTPONYOUNEVO

® 210 TTPOWIA deV yivovTal ETTIOTPOYPEG

® 21O £CAPTAMATA OI ETTIOTPOPEC Ba yivovTal KATOTTIV OUVEVVONONG

® XpOvog TTapAdoong KATOTTIV ouvevvoOnong

® H cTaipia dev QEpEl Kapia euBuvn yia TUXOV @BopPEC aTTd TNV HETAPOPA

APIOMOZX AOTAPIAZMOY TPAMEZA MEIPAIQZ:
Ap. Aoy.: 5242 0035 75529
IBAN: GR 22017 22420 00524 20035 75529

T



INDUS TRIAL ALUMINIUM PROEILE SYSTEMS

-

e

Systems  Chassis Conveyors Machine A umln I um
Profile

/g\/l/:\\ MEIMARIDOIS

B R O S

EMIMOPIA ZIAHPOY - AAOYMINIOY - T'YWOZANIAAZ - XPQMATQN
2OBAAQN - INOX NMANTOZ TYINOY - BIOMHXANIKA EPIrAAEIA
(ZTPANTZA - WAAIAI - KYAINAPOZ - MTANTOIPA®OZ)

Aoor MEIMAPIAH O.E.

2t1adiou 97 - Bépola
TnA.: 23310 23342 - 23178 / Fax: 23310 67869

.meimaridis.gr | info@meimaridis.gr
www.mei idis.gr | info@mei idis.g BAT

KNAUF (Vitex) Amnco wrars RS

MODULAR CONSTRUCTION TECHNOLOGIES
TIMOKATAAOI Oz
PRICE LIST

2025
B{EKAOZH

e-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr




